



Proposed Residential Development Hemingfield, Barnsley

Transport Assessment

February 2024

PROPOSED RESIDENTIAL DEVELOPMENT HEMINGFIELD, BARNSLEY

PTARMIGAN LAND NORTH LTD

TRANSPORT ASSESSMENT

Report by: Robbie Donaldson

Bryan G Hall Consulting Civil & Transportation Planning Engineers Suite E15, Joseph's Well, Hanover Walk, Leeds, LS3 1AB

Ref: 23-160-001.03

February 2024

Report Reference No: 23-160-001.03

	Name	Signed	Date
Report prepared by	Robbie Donaldson	R Donaldson	06/02/2024
Report checked by	Martin Crabtree	All	06/02/2024
Overview by	Stuart Wilkins	S.C. Wilking	06/02/2024

CONTENTS

1.0	INTRODUCTION	1
2.0	RELEVANT LOCAL AND NATIONAL POLICY	4
3.0	THE APPLICATION SITE AND EXISTING HIGHWAY NETWORK	8
4.0	ACCESS BY SUSTAINABLE TRANSPORT	17
5.0	DEVELOPMENT PROPOSALS	25
6.0	TRIP GENERATION AND DISTRIBUTION	30
7.0	BACKGROUND TRAFFIC GROWTH	33
8.0	TRAFFIC IMPACT OPERATIONAL ASSESSMENTS	35
9.0	SUMMARY AND CONCLUSIONS	40

APPENDICES

Appendix BGH1	Site Location Plan
Appendix BGH2	Illustrative Masterplan (drawing number: 2344:01)
Appendix BGH3	Survey Location Plans
Appendix BGH4	2023 Existing Traffic Flows
Appendix BGH5	Junction Model Outputs
Appendix BGH6	Personal Injury Collision Data
Appendix BGH7	Walking TRACC Accessibility Plan (drawing number: 23/160/ACC/001)
Appendix BGH8	Cycling TRACC Accessibility Plan (drawing number: 23/160/ACC/002)
Appendix BGH9	Public Transport TRACC Accessibility Plans (drawing number: 23/160/ACC/003 & 23/160/ACC/004)
Appendix BGH10	Proposed Vehicular and Pedestrian Access from Hemingfield Road (drawing number: 23/160/SKH/007 Rev C)
Appendix BGH11	Swept Path Analysis – Proposed Site Access (drawing number: 23/160/ATR/001)
Appendix BGH12	TRICS Data
Appendix BGH13	Trip Distribution Percentages
Appendix BGH14	Development Generated Traffic Flows
Appendix BGH15	2029 Growthed Traffic Flows
Appendix BGH16	2029 Committed Development Traffic Flows
Appendix BGH17	2029 Base Traffic Flows
Appendix BGH18	2029 Predicted Traffic Flows
Appendix BGH19	Development Generated Traffic Flows (Sensitivity Test)
Appendix BGH20	Predicted Traffic Flows (Sensitivity Test)

1.0 INTRODUCTION

Background

1.1 This Transport Assessment (TA) has been prepared by Bryan G Hall on behalf of Ptarmigan Land North Ltd to support an application for outline planning permission for a proposed residential development, on land between Hemingfield Road and the A6195 Dearne Valley Parkway in Hemingfield, Barnsley.

Site Location and Development Proposals

1.2 The site is located within Hemingfield which forms part the Principal Town of Hoyland as defined in the Barnsley Local Plan Settlement Hierarchy. It is located approximately 6.5 kilometres to the south-east of the centre of Barnsley. At present, the site is mostly undeveloped land which is used for agricultural purposes. At the south-western extents of the site are agricultural buildings associated with Hilltop Farm and the former Billy's Hill Farm Shop. The site is bound to the north by a line of trees and the A6195 Dearne Valley Parkway, to the east by existing undeveloped agricultural land, to the south by Hemingfield Road and Briery Meadows and to the west by Hemingfield Road and a further line of trees.

A site location plan is provided at Figure 1.1 and is also attached at **Appendix BGH1**.



Figure 1.1 - Site Location

©2024 Google



1.3

1.4 The development proposals seek to provide a new residential development on the site, with associated infrastructure and open space. The description of the development for the planning application is as follows:

"Application for outline planning permission for the demolition of existing structures and the erection of residential dwellings with associated infrastructure and open space. All matters reserved except for means of access to, but not within, the site."

- 1.5 The outline application will be for the erection of residential dwellings and identify the means of access into the site, however, the layout and access arrangements within the site itself will be considered at reserved matters stage.
- 1.6 Vehicular access to the site will be provided via a new right turn ghost island priority junction from Hemingfield Road at the western site boundary. There will also be a pedestrian access point onto Hemingfield Road at the southern site boundary, together with Briery Meadows and Garden Grove, via existing Public Rights of Way (PRoW) and also a pedestrian access to the underpass beneath Dearne Valley Parkway to the north. A plan showing an illustrative site layout is provided at **Appendix BGH2**.
- 1.7 The site forms part of a wider area of land which is identified in the Barnsley Local Plan as safeguarded land for future development. The safeguarded land is known as site SL6 'Land North East of Hemingfield', with an area of 18.2 hectares. The proposed development site is located broadly on the western third of the wider safeguarded land.

Pre-Application Discussions

1.8 The applicant submitted a pre-application advice request to Barnsley Metropolitan Borough Council (BMBC) in November 2023. Subsequently, a pre-application meeting was held with Officers of BMBC on 13th December 2023, which was attended by a Highways Officer and a PRoW Officer. The minutes from the meeting were issued to the Highways Officer and a PRoW Officer who attended the meeting. At the time of writing, the response to the pre-application meeting and BMBC's formal written pre-application advice has not yet been received. However, the scoping points discussed during the meeting relating to the proposed site access arrangement, traffic impact and the treatment of the existing PRoW through the site have been taken into account as part of this TA.



Report Structure

- 1.9 This TA has been prepared with reference to the Government's web-based resource 'Planning Practice Guidance' and consistent with the approach of the NPPF (in particular, section 9). It considers the current usage of the local highway network and assesses its suitability to accommodate traffic that is likely to be generated by the proposed development. The TA considers the historic road safety record of the highway network in the vicinity of the site and shows that the site is in a safe and sustainable location, which will provide access by modes other than the private car, i.e. active travel and public transport. It also provides information on the proposed site access, future servicing arrangements and on site parking provision.
- 1.10 Following this introduction, the TA is split into the following sections:
 - **Section 2:** sets out the relevant transport-related planning policies and guidance;
 - Section 3: provides a description of the site and the highway network in the vicinity of the proposed development. This section also considers the current traffic use and road safety characteristics of the local highway network;
 - Section 4: describes the accessibility of the site in terms of sustainable and active modes of transport;
 - Section 5: describes the development proposals and the means of access;
 - **Section 6:** sets out the vehicle trips likely to be generated by the development proposals and distributes these onto the local highway network;
 - **Section 7:** provides details of the forecasted background traffic growth applied, taking into account committed development;
 - Section 8: assesses the impact of the traffic generated by the proposed development on the local highway network in the vicinity of the site; and
 - Section 9: provides a summary and draws the conclusions of the TA.
- 1.11 In addition to this TA, a Travel Plan (TP) has been produced to support the application and should be read in conjunction with this TA.



2.0 RELEVANT LOCAL AND NATIONAL POLICY

National Planning Policy Framework (NPPF)

- 2.1 The National Planning Policy Framework (NPPF) was most recently revised in December 2023. It sets out the Government's planning policies for England and how these should be applied.
- 2.2 Paragraph 114 of the NPPF states that:

"In assessing sites that may be allocated for development in plans, or specific applications for development, it should be ensured that:

- a) Appropriate opportunities to promote sustainable transport modes can be – or have been – taken up, given the type of development and its location;
- b) Safe and suitable access to the site can be achieved for all users;
- c) The design of streets, parking areas, other transport elements and the content of associated standards reflects current national guidance, including the National Design Guide and the National Model Design Code; and
- d) Any significant impacts from the development on the transport network (in terms of capacity and congestion), or on highway safety, can be cost effectively mitigated to an acceptable degree."
- 2.3 Paragraph 115 of the NPPF states that: *"Development should only be prevented or refused on highways grounds if there would be an unacceptable impact on highway safety, or the residual cumulative impacts on the road network would be severe."*2.4 Paragraph 116 of the NPPF goes on to state: *"Within this context, applications for development should:*a) Give priority first to pedestrian and cycle movements, both within the scheme and with neighbouring areas; and second so far as possible to facilitating access to high quality public transport, with layouts that maximise the catchment area for bus or other public transport services, and appropriate facilities that encourage public

transport use;

b) Address the needs of people with disabilities and reduced mobility in relation to all modes of transport;



4

- c) Create places that are safe, secure and attractive which minimise the scope for conflicts between pedestrians, cyclists and vehicles, avoid unnecessary street clutter, and respond to local character and design standards;
- d) Allow for the efficient delivery of goods, and access by service and emergency vehicles; and
- e) Be designed to enable charging of plug-in and other ultra-low emission vehicles in safe, accessible and convenient locations."
- 2.5 Paragraph 117 also states that developments that will generate significant amounts of movement should be supported by a Transport Statement or Transport Assessment, so that the likely impacts of the proposal can be assessed. The application for this site includes this TA, which is line with this requirement.

Planning Practice Guidance

- 2.6 In 2014, the Government released a number of updated Planning Practice Guidance (PPG) Notes linked to the NPPF. The aim of the PPG Notes is to help simplify the planning system in England and replace a number of historic guidance notes.
- 2.7 The updated PPG Notes cover Transport in two sections, the first being 'Transport evidence bases in plan making' and the second being 'Travel plans, transport assessments and statements in decision taking'. The latter refers to Transport Assessments, Transport Statements and Travel Plans as ways of assessing and mitigating negative transport impacts of development, in order to promote sustainable development. This TA has been prepared in line with the key principles set out in the PPG Notes. A TP has also been prepared for submission alongside the planning application.

Manual for Streets

2.8 Although they do not form part of planning policy, Manual for Streets (2007) and Manual for Streets 2 (2010) provide national guidance on the design, construction, adoption and maintenance of urban streets, particularly residential streets. This guidance is referred to within this TA, particularly in relation to visibility provision for the proposed site access arrangements.

Active Travel England

2.9 Active Travel England is the Government's executive agency responsible for improving active travel. It is likely that Active Travel England will be consulted as part of the planning application process and the Active Travel England Standing Advice Note: Active Travel and Sustainable Development has been considered in the production of this report and the supporting Travel Plan.



Local Policy

Barnsley Local Plan 2019-2033

- 2.10 The Barnsley Local Plan was adopted in January 2019 and sets out how BMBC will manage the physical development of the borough. It is a key part of the statutory development plan and informs decisions on planning applications.
- 2.11 The following key policies set out within the Barnsley Local Plan are relevant to highways and transport and the proposed development:
 - Policy SD1 Presumption in favour of Sustainable Development this policy reflects the positive approach set out in the NPPF.
 - Policy GD1 General Development sets out, inter alia, that development proposals will be approved if adequate access and internal road layouts are provided and appropriate vehicular and pedestrian links are provided through the site and into adjacent areas.
 - Policy T3 New Development and Sustainable Travel sets out that new development will be expected to be designed to reduce the need to travel, be accessible to public transport and meet the needs of pedestrians and cyclists, including the provision of suitable cycle parking. A Transport Statement or Assessment and Travel Plan should be provided in line with the NPPF.
 - Policy T4 New development and Transport Safety sets out that new development should be designed to provide all transport users within and surrounding the site with safe, secure and convenient access and movement.
 - Policy GS2 Green Ways and Public Rights of Way sets out that where development affects an existing Public Right of Way, it must protect the existing route within the development or include an equally convenient and attractive alternative route.
- 2.12 It is considered that the proposed development is aligned to the key policies, where appropriate, given it is an application for outline planning permission, and the contents of this document provide the information required at this stage. Given that it is an application for outline planning permission, further information would be provided at the subsequent reserved matters stage.



6

Barnsley's Transport Strategy

2.13 Barnsley's Transport Strategy outlines BMBC's commitment to improve transport options and reduce the negative impacts of travel on the borough. It identifies key improvements needed for the 10 year period from 2020 to 2030 to help deliver BMBC's vision, many of which relate to improvements which facilitate active travel and reduce motor vehicle dominance.

Active Travel in Barnsley (2019 - 2033)

2.14 Barnsley's Active Travel strategy aims to make active travel modes an attractive and realistic choice for short journeys, involving the development and promotion of accessible, safe and well planned active travel opportunities.

Barnsley's Supplementary Planning Documents

- 2.15 Following the adoption of the Local Plan in 2019, BMBC produced a number of Supplementary Planning Documents (SPDs). The following SPDs have been considered as part of the preparation of this TA and the accompanying TP:
 - Design of Housing Development (adopted July 2023) sets out the principles that will apply to planning applications for new housing development, including the design of streets, parking and public rights of way. The SPD frequently refers to relevant design guidance the South Yorkshire Residential Design Guide and Manual for Streets.
 - Sustainable Travel (adopted July 2022) supplements the sustainable travel related policies of the Local Plan to ensure that accessibility of new development via public transport, walking and cycling is acceptable.
 - Parking (adopted November 2019) sets out the parking standards applied to new development in Barnsley.

South Yorkshire Residential Design Guide

- 2.16 Although not forming part of planning policy, the South Yorkshire Residential Design Guide provides guidance on the design of residential development, which is referred to within this TA, as appropriate.
- 2.17 The illustrative scheme and access arrangements included with the application is consistent with national and local policy and when further information is provided during the reserved matters stage the development will be fully aligned to the local policy requirements .



3.0 THE APPLICATION SITE AND EXISTING HIGHWAY NETWORK

The Application Site

- 3.1 The site is located within the village of Hemingfield, which is located approximately 6.5 kilometres to the south of Barnsley town centre. At present, the site is mostly undeveloped land which is used for agricultural purposes. At the south-western extents of the site are agricultural buildings associated with Hilltop Farm and the former Billy's Hill Farm Shop.
- 3.2 The site is bound to the north by a line of trees and the A6195 Dearne Valley Parkway, to the east by existing undeveloped agricultural land, to the south by Hemingfield Road and Briery Meadows and to the west by Hemingfield Road and a further line of trees.
- 3.3 There is currently one main existing vehicular access to the existing agricultural buildings and former farm shop on the site, which is from Hemingfield Road at the southern site boundary. The access is in the form of a vehicular dropped crossing over the footway on the northern side of Hemingfield Road, which provides access to the site via a 5.9 metre wide gated gap in the existing stone wall, which runs along the site boundary in this location.
- 3.4 A second existing gated vehicular access to the site is located around 25 metres to the west of the main access. This is also a vehicular dropped crossing over the footway on the northern side of Hemingfield Road, which provides access to the site via a 4.3 metre wide gated gap in the existing stone wall. However, at present the second access is gated shut and obstructed and not currently in use. The location of these accesses is shown in Figure 3.1.



Figure 3.1 – Existing Site Access Arrangements

©2024 Google



The Existing Highway Network

- 3.5 Hemingfield Road is a two-way, single carriageway road which runs in an east to west alignment along the southern site boundary. In the vicinity of the existing site access points, the carriageway is a minimum of 7.3 metres wide, with footways on both sides of the carriageway which are typically around 2 metres wide. The road has a speed limit of 30mph and street lighting is in place in the vicinity of the site.
- 3.6 To the west of the main existing site access, Hemingfield Road provides frontage access to residential dwellings on the southern side of the carriageway, as well as access to two small cul-de-sacs. The first cul-de-sac, Mellwood Grove, forms a junction with Hemingfield Road around 25 metres to the west of the existing main site access. The second cul-de-sac is also known as Hemingfield Road and meets the main Hemingfield Road around 50 metres to the west of Mellwood Grove.
- 3.7 Approximately 80 metres to the west of the main existing access, in the vicinity of the Hemingfield Road cul-de-sac, the main Hemingfield Road curves to the north, continuing on a north to south alignment along the western site boundary. After the bend, Hemingfield Road continues to provide frontage access to dwellings on the western side of the carriageway. On street parking associated with these dwellings takes place on the western side of the carriageway. The footways initially continue around the curve along both sides of the carriageway. The footway on the eastern site side continues for around 80 metres to the north of the Hemingfield Road cul-de-sac, where it terminates and is replaced with a verge containing dense vegetation and trees. An uncontrolled pedestrian crossing point with dropped kerb is provided in this location to allow pedestrians to continue north using the footway on the western side of Hemingfield Road.
- 3.8 Approximately 115 metres to the north of the point where the footway on the eastern side of the carriageway terminates, Hemingfield Road forms the major arm of a priority T-junction with a further road named Hemingfield Road, on the western side of the carriageway. Following a short east/west link around 25 metres long, the minor arm of Hemingfield Road runs north/south parallel to the major arm. It provides access to further residential properties on the west side of the carriageway, and a footway is provided along this section. Around 55 metres to the south of the east/west link, the carriageway of this section of Hemingfield Road terminates, however the footway continues and merges with the existing footway along the west side of the main Hemingfield Road.
- 3.9 Around 60 metres to the north of the east/west link, this section of Hemingfield Road terminates for vehicles. To the north of this point, the carriageway narrows significantly and there are bollards in place to prevent vehicle access, but to allow



cycle access alongside the footway beneath the A6195 Dearne Valley Parkway via a lit underpass, adjacent to Hemingfield Road Roundabout.

3.10 Returning to the T-junction with Hemingfield Road, approximately 90 metres to the north of the junction, Hemingfield Road meets the A6195 Dearne Valley Parkway to form the Hemingfield Road Roundabout. A footway continues along the western side of the major arm of Hemingfield Road between the T-junction and the roundabout. Hemingfield Road itself serves as the southern arm of the four arm Hemingfield Road Roundabout. The A6195 Dearne Valley Parkway forms the eastern and western arms and the continuation of Hemingfield Road forms the north-western arm. Uncontrolled pedestrian crossing points with dropped kerbs and splitter islands are provided on all four arms, however there is no footway provision on the A6195 Dearne Valley Parkway to the east and west of Hemingfield Road Roundabout.

- 3.11 The A6195 Dearne Valley Parkway is a dual carriageway road that runs in an east / west alignment, and serves as a major link between the M1 Junction 36, located approximately 4.7 kilometres to the south-west of the site, and areas to the south-east of Barnsley, including Hemingfield. The A6195 Dearne Valley Parkway consists of several at-grade roundabouts, is subject to the national speed limit, and street lighting is in place in the vicinity of the site and the Hemingfield Road Roundabout.
- 3.12 Between the Hemingfield Road Roundabout and the M1 Junction 36, the A6195 Dearne Valley Parkway provides direct connectivity to large employment areas such as Shortwood and Ashroyd Business Parks. To the east of Hemingfield Road Roundabout, the A6195 Dearne Valley Parkway provides access to towns and villages such as Brampton and the southern part of Wombwell. It also provides access to Cortonwood Retail Park around 1.5 kilometres to the east of the site.
- 3.13 Returning to the Hemingfield Road Roundabout, the continuation of Hemingfield Road to the north-west is in the form of a two-way single carriageway, initially subject to the national speed limit but reducing to a 30mph speed limit with street lighting in place. Around 25 metres to the north-west of the roundabout, the previously described footway/cycleway which passes under the A6195 Dearne Valley Parkway to the west of the roundabout, joins the footway on the southwestern side of Hemingfield Road (North), with a dropped kerb provided for cycle access to and from the carriageway.
- 3.14 After a further 15 metres, Hemingfield Road (North) passes over the Hallam and Penistone railway line via a bridge, where the speed limit reduces to 30mph. Immediately after the Hemingfield Road Roundabout, there is a footpath on the



western side of the road. However, approximately 25 metres to the north of the bridge, a footway is also provided on the north-eastern side of Hemingfield Road (North), where a pedestrian crossing point with dropped kerbs and tactile paving is provided. Hemingfield Road (North) provides a connection to the town of Wombwell to the north of the site, including Wombwell railway station, which is located around 500 metres to the north-west of the Hemingfield Road Roundabout.

- 3.15 Returning to the main existing site access with Hemingfield Road, at the southern site boundary, around 30 metres to the east of this point, Hemingfield Road curves around to the south. On the outside of this curve, Hemingfield Road forms the major arm of a priority T-junction with Briery Meadows, which includes a right-turn lane for traffic turning into Briery Meadows. Briery Meadows is a residential access road that runs along the southern site boundary, broadly in an east to west alignment. It is a cul-de-sac which terminates after around 150 metres.
- 3.16 Approximately 200 metres to the south of the junction with Briery Meadows, Hemingfield Road curves around to the east and meets Cemetery Road by way of a priority T-junction just after the curve, with the junction on the southern side of the carriageway. Hemingfield Road becomes School Street immediately to the east of the Cemetery Road junction, forming a priority T-junction with Tingle Bridge Lane around 230 metres to the east of Cemetery Road and continuing as Beech House Road out of Hemingfield to the east, passing under the A6195 Dearne Valley Parkway and towards the southern extents of Wombwell.
- 3.17 The speed limit of Hemingfield Road through Hemingfield is 30mph and street lighting is provided. Hemingfield Road, School Street and Cemetery Road have footways to both sides of the carriageway and provide access to properties on both sides, including direct frontage access and further access via cul-de-sacs. Cemetery Road also provides access to various local shops and amenities in Hemingfield, and continues to the south-west, providing access to the neighbouring village of Jump.

Public Rights of Way

3.18 There are two existing PRoWs which pass through the site, as shown by the blue dashed lines in the screenshot of BMBC's online PRoW map at Figure 3.2.





Figure 3.2 – Public Rights of Way in the vicinity of the Site

© Crown Copyright & Database Rights (2024). AC0000851104

3.19 The first PRoW (Footpath No. 17) traverses directly through the proposed development site along a north to south alignment. At the northern site boundary, Footpath No. 17 passes under the A6195 Dearne Valley Parkway via an underpass. This provides an alternative pedestrian access route to Wombwell to the north of the site and Cortonwood Retail Park to the east, via other connecting PRoWs. The underpass also provides private vehicular access to the fields on the northern side of the A6195 Dearne Valley Parkway, approximately 700 metres to the south-east of the underpass, which provides a circular walking route for leisure back into Hemingfield via the pedestrian footbridge over the Dearne Valley Parkway located to the east.

- 3.20 At the southern site boundary, Footpath No. 17 meets Footpath No. 18, a further PRoW which runs along the southern site boundary along an east to west alignment, facilitating pedestrian access between Hemingfield Road/Briery Meadows and Garden Grove to the east. Footpath 17 continues beyond the site boundary onto and across Briery Meadows and then through to Ellis Court to the south of the site.
- 3.21 Both existing PRoWs through the site are to be retained along their current alignment, with further details on this provided in Section 5.0.



Traffic Surveys

- In order to determine the peak hour usage of the local highway network, traffic surveys were undertaken on Tuesday 27th June 2023 between the hours of 7:00am 10:00am and 2:00pm 7:00pm. These time periods, which represented normal conditions, were chosen to ensure that the weekday morning and evening peak hours were fully captured for consideration in this TA. The surveys recorded fully classified turning counts in 15-minute intervals at the following locations, as illustrated on the survey location plans at Appendix BGH3:
 - 1. Hemingfield Road Roundabout;
 - 2. Briery Meadows/ Hemingfield Road priority T-junction; and,
 - 3. Cemetery Road/ School Street priority T-junction.
- 3.23 It has been identified from the raw traffic survey data that the weekday morning peak hour occurred between 8:00am and 9:00am and the weekday evening peak hour occurred between 4:00pm and 5:00pm. Traffic flow diagrams showing the 2023 existing peak hour traffic flows on the local highway network are attached at **Appendix BGH4**.
- Two Automatic Traffic Counters (ATCs) were also put in place to collect traffic and speed data, for 7 days from Tuesday 9th January 2024 to Monday 15th January 2024. The locations of the two ATCs are shown on the survey location plans at **Appendix BGH3**. The ATC data has been used to determine 85th percentile vehicle speeds on Hemingfield Road on which to base the visibility provision at the proposed site access junction, as detailed in Section 5.0 of this TA.

2023 Existing Operational Assessment

3.25 As explained further in Section 7.0, the impact of development traffic on the Hemingfield Road Roundabout has been assessed, as this is the only junction, other than the site access, where the proposed development generated trips are anticipated to exceed 30 additional two-way trips in the peak hours. This is the threshold for assessment which was agreed with BMBC during the pre-application meeting.

Hemingfield Road Roundabout

3.26 The existing operation of the Hemingfield Road Roundabout has been assessed using the ARCADY element of the TRL industry standard modelling software package, Junctions 9. The geometric parameters used to build the traffic model have been measured from Ordnance Survey mapping.



3.27 The results of the modelling are summarised in Table 3.1 below and the full model outputs are attached at **Appendix BGH5**.

3.28 The Ratio of Flow to Capacity (RFC) results are provided for the junction. The RFC is a measure which is commonly used to judge the acceptability of new junction designs and also existing junctions in relation to predicting how they will operate. At existing junctions in urban areas, an RFC value of 1.00 is generally used to identify a junction operating at capacity. An RFC value of less than 0.85 is typically used to indicate that a new junction is predicted to operate at a satisfactory level of performance. For junctions operating with RFC's between 0.85 and 1.0 it is normal practice to give further consideration to the operation of the junction. The maximum queues are presented in Passenger Car Unit (PCU) format, with a PCU length equating to 5.75 metres.

		Hemingfi	eld Road Ro	undabout
Movement	Weekday Morning Peak Hour		Weekday Evening Peak Hour	
	RFC	Queue (PCU)	RFC	Queue (PCU)
A6195 Dearne Valley Parkway (East)	0.43	1	0.62	2
Hemingfield Road (South)	0.21	0	0.19	0
A6195 Dearne Valley Parkway (West)	0.45	1	0.56	1
Hemingfield Road (North)	0.28	0	0.30	0

Table 3.1: 2023	Existing Operational Assessment
	Hemingfield Road Roundabout

3.29

It can be seen from Table 3.1 that the junction currently operates with a maximum RFC of 0.62, occurring on the A6195 Dearne Valley Parkway (East) arm during the weekday evening peak hour, with an associated queue of two vehicles. It is therefore clear from the model results that the Hemingfield Road Roundabout is currently operating well within capacity.

Personal Injury Collisions

3.30 The record of personal injury collisions (PICs) that have occurred on the local highway network has been requested from BMBC for the most recent 5 year period available. The data provided is for the 69 month period from 1st January 2018 to 17th September 2023 and is attached at **Appendix BGH6.**



3.31 The data shows that during the 69 month period, there have been a total of 4 PICs within the study area, 3 of which have been classified as slight in severity with 1 fatality.

Cemetery Road

- 3.32 The PIC data shows that 1 fatal PIC has been recorded on Cemetery Road during the study period, at the junction with Lady Croft Lane. This involved a collision between a motorcycle travelling ahead on Cemetery Road south-westbound and a car turning right into Lady Croft Lane.
- 3.33 Whilst of course any PIC is regrettable, it appears as though this was an isolated incident and so does not indicate any inherent road safety issues with the operation of the Lady Croft Lane/Cemetery Road junction.

Hemingfield Road Roundabout

- 3.34 3 PICs have been recorded at the Hemingfield Road Roundabout, all of which have been classed as slight. The first PIC occurred when a driver travelling along the A6195 Dearne Valley Parkway (eastern arm) towards the Hemingfield Road Roundabout suffered a medical episode at the wheel. The car subsequently travelled onto the roundabout and made contact with another vehicle.
- 3.35 The second slight PIC occurred when a car and motorbike made contact whilst exiting the Hemingfield Road Roundabout onto the A6195 Dearne Valley Parkway (western arm).
- 3.36 The third slight PIC took place on the A6195 Dearne Valley Parkway (eastern arm) approach to the Hemingfield Road Roundabout, when a goods vehicle changed lanes to overtake a car which had not set off on the approach to the roundabout, resulting in a collision with another car.

Proposed Site Access

3.37 The PIC data shows that no PICs were recorded on Hemingfield Road in the vicinity of the proposed site access junction, which is approximately 210 metres to the south of the Hemingfield Road Roundabout. The proposed site access is detailed further in Section 5.0 of this TA.

Summary

3.38 The above analysis indicates that in the 69 month period considered, 4 recorded PICs have occurred on the road network in the vicinity of the site, equating to less than 1 PIC per year. Whilst the data shows that 3 PICs occurred at Hemingfield Road



Roundabout, these PICs were all different in nature and so do not indicate that there are any inherent road safety issues at the junction.

3.39 Following the review of the PIC data for the highway network in the vicinity of the site, it is concluded that the highway network is operating satisfactorily at present with no recurring causation factors associated with PICs at any single location. The analysis has not revealed any existing road safety issues which would be exacerbated by the proposed development traffic.



4.0 ACCESS BY SUSTAINABLE TRANSPORT

4.1 The national and local transport policies summarised in Section 2.0 seek to reduce the need to travel by private car and to promote travel by other means. A review of the accessibility of the site by walking, cycling and using public transport has been undertaken as follows.

Walking

- 4.2 With regard to pedestrian provision at new developments, guidance is set out within the Chartered Institution of Highways and Transportation (CIHT) document 'Planning for Walking' (March 2015) and describes how approximately 80% of all journeys, shorter than 1 mile (1.6 kilometres), are made wholly on foot. If destinations are within a convenient walking distance, people are more likely to walk if it is safe, comfortable, and the surrounding environment is attractive. Walking is also regarded as an essential part of public transport travel, as bus stops are usually accessed on foot.
- 4.3 Further guidance within the earlier CIHT Publication 'Guidelines for Providing for Journeys on Foot' (2000) sets out the suggested acceptable walking distances for pedestrians without any mobility impairment. The recommended desirable, acceptable and preferred maximum walking distances for commuting/school and other journeys, such as retail/shopping, are shown in Table 4.1.

	Trip Purpose			
	Commuting/School	Other Journeys (Retail/Shopping)		
Desirable	500 metres	400 metres		
Acceptable	1,000 metres	800 metres		
Preferred Maximum	2,000 metres	1,200 metres		

 Table 4.1: Recommended Walking Distances

4.4

Table 4.1 show that the preferred maximum walking distance for 'commuting / school' journeys is 2,000 metres (2.0 kilometres) and the preferred maximum walking distance for other journeys is 1,200 metres (1.2 kilometres). A walking catchment plan which illustrates the destinations accessible within a maximum 2.0 kilometres walking distance from the centre of the site, in 400 metre intervals, has



been prepared using the TRACC accessibility software. The walking catchment plan is attached at **Appendix BGH7.**

4.5 The walking catchment plan reflects the four points of pedestrian access to the site which are proposed. Pedestrian access to the site will be provided from Hemingfield Road via footways along both sides of the vehicular site access and a separate pedestrian only access on the southern boundary. Further pedestrian access to the site will be provided through the retention of the existing PRoW connections into the site from Briery Meadows and Garden Grove. Further details on the pedestrian access proposals are provided in Section 5.0, with further details on the existing PRoW provided in Section 3.0.

- 4.6 The walking catchment plan shows that all of Hemingfield is accessible within the preferred maximum 2.0 kilometre walking distance, along with a large area of Wombwell to the north of the site, Jump to the south-east and Cortonwood Retail Park, the latter via a PRoW, to the east of the site.
- 4.7 Table 4.2 summarises the walking distances from the centre of the site to each of the nearest key amenities in Hemingfield, the location of these relative to the site are shown on Figure 4.2 overleaf.

	Trip Purpose				
Amenity	Location	Approximate Walking Distance from Centre of Site			
The Ellis C E Primary School	School Street/Garden Grove	410 metres			
Hemingfield Recreation Ground (Childrens Play Area)	Hemingfield Road	460 metres			
Seashaw's Fish and Chips (Hot Food Takeaway)	Cemetery Road	560 metres			
The Albion Inn (Public House)	Cemetery Road	570 metres			
Tekniques Hair Salon	Cemetery Road	600 metres			
Tearoom (Café)	Cemetery Road	610 metres			
Hemingfield Village Store	Cemetery Road	620 metres			

Table 4.2: Walking Distances to Amenities





Contains Ordnance Survey data © Crown Copyright and database right 2024

Table 4.2 shows that there are a number of local amenities which are within the preferred maximum walking distance of 1,200 metres. It also shows that The Ellis C E Primary School is within the desirable walking distance for school journeys of 500 metres. Whilst the school address refers to School Street, where there is a pedestrian access to the school, the main entrance for pedestrians and vehicles is from Garden Grove to the south-east of the site. This can be accessed via the existing PRoW which runs through the site onto Garden Grove, which has footways either side of the carriageway and is street lit. The PRoW is to be retained and improved as part of the development proposals, which will provide a direct walking route to the school from the site.

4.9 The nearest Secondary Schools to the site are the Netherwood Academy and the Kirk Balk Academy. The Netherwood Academy is located within around 3.2 kilometres walking distance to the north-east of the site. It can also be accessed by a combined walking and bus journey, via the 67a bus, which stops at the nearest bus stops to the site on Hemingfield Road and around 800 metres walking distance from Netherwood Academy (approximately 35 minutes journey time including walking time).



4.8

- 4.10 The Kirk Balk Academy is located to the south-east of the site within around 3.8 kilometres walking distance. It can also be accessed by a combined walking and bus journey via the number 72 bus service, which stops at the nearest bus stops to the site on Hemingfield Road and directly outside Kirk Balk Academy (approximately 15 minutes journey time including walking time).
- 4.11 A further secondary school, Wath Academy, is located in Wath-upon-Dearne to the south-east of the site. It is accessible from the site via the 662 bus, which stops at the nearest bus stops to the site on Hemingfield Road and directly outside Wath Academy (approximately 25 minutes journey time including walking time).
- 4.12 Further information on bus services is provided later in this section of the TA.

Cycling

- 4.13 Guidance in the Department for Transport's (DfT) 'Cycling and Walking Investment Strategy' (April 2017) and 'Cycle Infrastructure Design' (LTN 1/20 – July 2020) sets out that two out of every three personal trips are within 5 miles (8 kilometres), which is an achievable distance to cycle for most people.
- 4.14 It is also generally accepted that the bike is an ideal mode of transport for journeys under 8 kilometres and that cycling has clear potential to substitute for short car trips, particularly those under 5 kilometres, and to form part of a longer journey by public transport.
- 4.15 A 5 and 8 kilometre cycling catchment plan has been prepared using the TRACC accessibility software and is included at **Appendix BGH8**. This shows that Hemingfield, Wombwell, Darfield, Brampton, Jump, Elsecar and Hoyland are accessible within a 5 kilometre cycle distance. Birdwell, Tankersley, Wath upon Dearne, Bolton-upon-Dearne, Worsborough and other areas to the south-east of the centre of Barnsley are accessible within an 8 kilometre cycle distance.
- 4.16 Key employment areas, such as Cortonwood Retail Park to the east of the site and Shortwood Business Park to the west of the site, are also well within a 5 kilometre cycle.
- 4.17 The cycle route beneath the A6195 Dearne Valley Parkway, via a lit underpass as described in Section 3.0, provides a high quality cycle link which allows cyclists to travel between the site and Wombell, without needing to travel via the Hemingfield Road Roundabout.
- 4.18 The Wortley to Brampton Cycle Route (Route Number 67), which is part of the National Cycle Network (NCN), runs in an east to west alignment at the southern



extents of Hemingfield. This NCN route can be accessed from the site via Hemingfield Road, School Street and Tingle Bridge Lane, some 950 metres from the centre of the site to the south-east. It provides access to both Wortley and Brampton, as well as other towns such as Hoyland and Wombwell, with a large proportion of the route being traffic free.



Figure 4.2 – National Cycle Network Route 67

©OpenStreetMap

4.19 The Wortley to Brampton Cycle Route also forms part of the Trans Pennine Trail, which is a combination of local cycle routes that provide mostly traffic free access to various locations. As part of the Trans Pennine Trail, a largely traffic free route is provided to areas further afield, such as Doncaster to the east, and Barnsley to the north.

Public Transport

Bus

- 4.20 The closest bus stops to the site are located on Hemingfield Road, with the northbound bus stop located around 260 metres walking distance from the centre of the site, at the southern site boundary. The southbound bus stop is currently located at the western site boundary, but it is proposed to relocate the existing stop to facilitate the delivery of the proposed site access arrangement. Further detail on this is provided in Section 5.0.
- 4.21 It is anticipated that the new bus stop will be located just to the west of Mellwood Grove at the southern site boundary on the north side of Hemingfield Road within a walking distance of around 280 metres from the centre of the site. The exact



location of the bus stop is to be agreed with BMBC and the local public transport operators. Therefore there are bus stops well within the recommended maximum walking distance of 400 metres as they are adjacent to the site boundary.

- 4.22 The bus stops on Hemingfield Road are served by the 72/72a, 662, and 67/67a/67c number bus services. They are marked by a flag and provide timetable information.
- 4.23 Further bus stops are located on Cemetery Road, approximately 390 metres walking distance from the centre of the site. These bus stops are also served by the 662 and 67/67a/67c number bus services. Both of the stops benefit from a shelter, seating, and timetable information. Table 4.3 summarises the bus services available from the Hemingfield Road stops.

Route Number	Route	Frequency				
	Description	Weekdays	Saturday	Evenings & Sunday		
67/67a/67c	Barnsley Interchange – Wombwell	Hourly	Hourly	Every two hours		
72/72a	Wath Road – Chapeltown	Hourly	Hourly	No Service		
662	Elsecar – Wath upon Dearne	1 service to wards Wath- upon-Dearne AM Peak 1 service to wards Elsecar PM Peak	No Service	No Service		

Table 4.3: Summary of Existing Bus Services

*Note – 67 does not stop at Tankersley or Pilley, 67a does not stop at Worsborough Dale and 67c does not stop at top at Pilley. 72 does not stop at Tankersley Maple Road.

- 4.24 Table 4.3 shows that there are regular services from the bus stops on Hemingfield Road, to key destinations including Barnsley, Wombwell and Wath Upon Dearne. Two of the services run approximately every hour, which are timed as such that they provide a service approximately every half an hour and the 662 service is timed such that it facilitates access to the Wath Academy secondary school.
- 4.25 All variants of the 67 and 72 bus services offer regular journeys to Cortonwood Retail Park, which is located approximately 1.5 kilometres to the east of the site. This provides convenient access to both employment opportunities and the facilities available at the retail park ,which include convenience and comparative shopping, including two supermarkets.
- 4.26 Based on the above, it is considered that bus travel will be a convenient and very attractive travel mode for future residents of the site.



Rail

- 4.27 The closest railway station to the proposed development site is Wombwell Railway Station, which is located around 850 metres walking distance to the north-west of the site, via the pedestrian route under the A6195 Dearne Valley Parkway to the west of the Hemingfield Road Roundabout. The station is also accessible within an approximate 4 minute cycle ride and, at the station, there are 12 sheltered cycle parking spaces which are protected by CCTV. The number 67/67a/67c bus, which serves the nearest bus stops to the site on Hemingfield Road, also stops immediately outside Wombwell station, although it does travel via the Cortonwood Retail Park first in both directions. Even so, the bus journey between the site and the station is generally less than 10 minutes.
- 4.28 The station offers frequent services to nearby destinations including Barnsley, Wakefield, Huddersfield, Leeds, and Sheffield, which also stop at other local stations. Subsequently, from these stations connections can be made to access additional destinations further afield, including Manchester, Liverpool, Newcastle, Edinburgh, and London.
- 4.29 It is therefore considered that the close proximity to Wombwell station provides an opportunity for many future residents to travel by rail be it when commuting or taking a trip for leisure.

Public Transport Catchment Plans

4.30 Public transport catchment plans which show the areas that are accessible within a 60 minute journey of the site using public transport have been prepared using the TRACC accessibility software. The catchment plans for the morning and evening peak periods are attached at **Appendix BGH9**. The plans show that residents can reach the centre of Barnsley within a 30 minute journey during both peak periods. Hoyland and Wath upon Dearne are accessible within 20 to 30 minutes and Sheffield, Rotherham and Wakefield are accessible within a 40 minute journey. Leeds (during the morning peak), Doncaster (during the evening peak) and the outer areas of Sheffield, Rotherham and Wakefield (during both peak periods) are within a 60 minute journey.

Sustainable Transport Summary

- 4.31 This section has shown that there are numerous opportunities for sustainable travel to and from the proposed development site, which is compliant with the objectives of local and national transport planning policy.
- 4.32 It is considered that the site is well located to promote trips on foot to local amenities. The provision of the cycle link under the A6195 Dearne valley Parkway



to the north-west of the site and NCN Route 67 to the south-east will also help to encourage cycling journeys.

4.33 Regular bus services are provided from bus stops within a short walking distance of the centre of the site, providing services to key leisure, employment and transport hubs, such as Barnsley Interchange and Cortonwood Retail Park. Wombwell Railway Station is located within an approximate 4 minute cycle ride or 850 metre walk from the site, which offers a range of local rail services, and an opportunity to connect to national services.

4.34 The evidence provided in this section therefore demonstrates that the site is accessible using sustainable modes of transport, including walking, cycling and the use of public transport.



5.0 DEVELOPMENT PROPOSALS

- 5.1 The proposal is for a new residential development on land between Hemingfield Road and the A6195 Dearne Valley Parkway in Hemingfield, Barnsley. The illustrative masterplan showing how the site could be developed is provided at Appendix BGH2.
- 5.2 The description of the development for the planning application is as follows:

"Application for outline planning permission for the demolition of existing structures and the erection of residential dwellings with associated infrastructure and open space. All matters reserved except for means of access to, but not within, the site."

- 5.3 The outline application will be for the erection of residential dwellings and identify the means of access into the site, however, the layout and access arrangements within the site itself will be considered at reserved matters stage.
- 5.4 The site forms part of a wider area of land which is identified in the Barnsley Local Plan as safeguarded land for future development. The safeguarded land is known as site SL6 'Land North East of Hemingfield', with an area of 18.2 hectares. The proposed development site is located broadly on the western third of the wider safeguarded land.
- 5.5 The proposals which form part of the application for outline planning permission do not prejudice the future delivery of further development on the remaining area of safeguarded land located to the east of this site. The design of the new junction from Hemingfield Road and the internal roads within the site will be designed in such a way as to ensure that they are sufficient to accommodate further development.

Vehicular Access

Proposed Arrangement

- 5.6 Vehicular access to the site will be by way of a new ghost island right turn priority T-junction on Hemingfield Road, at the western site boundary. A drawing which shows the proposed site access arrangements is attached at **Appendix BGH10** (drawing number 23/160/SKH/007 Rev C).
- 5.7 The South Yorkshire Residential Design Guide (2011) paragraphs B.2.1.6 and B.2.1.7 state that conventional residential streets, with a design speed of 20mph or less,



should have a minimum carriageway width of 4.8 metres and that streets with higher design speeds should have a minimum carriageway width of 5.5 metres. The first section of the proposed site access road will be 6.0 metres wide i, which may narrow to 5.5 metres within the site subject to detailed design of the internal site layout at the reserved matters stage. 10.0 metre radius kerbs are proposed to both sides of the proposed site access junction with Hemingfield Road.

- 5.8 In order to accommodate the proposed right turn ghost island, it is proposed to widen Hemingfield Road into the site in the vicinity of the proposed site access junction. The carriageway will be widened from its current width of 7.0 metres to a total of 10.0 metres, to allow the formation of a 3.0 metre wide right turn ghost island, a 3.0 metre wide through lane for southbound vehicle movements on Hemingfield Road and a 4.0 metre wide through lane for northbound vehicle movements on Hemingfield Road.
- 5.9 The 4.0 metre wide northbound through lane is proposed to accommodate current on-street parking on Hemingfield Road in the vicinity of the proposed site access junction, which is associated with existing residential properties to the western side of the carriageway. The existing problem of on-street parking was identified and the solution has been developed to address it. The widening of the northbound lane and introduction of a right turn ghost island means that traffic can continue to flow while vehicles are waiting to turn right into the site.
- 5.10 The geometry of the proposed right turn ghost island junction has been designed in accordance with the Design Manual for Roads and Bridges (DMRB) CD 123.

Visibility

- 5.11 Manual for Streets advises that for a speed limit of 30mph, in the absence of known speeds of traffic, visibility splays of 2.4 metres x 43 metres should be provided at a junction. In this case, speed data on the approach to the site access has been collected by the ATCs described in Section 3.0, which can be used to calculate the visibility provision based on the surveyed 85th percentile speeds.
- 5.12 Guidance on speed surveys is provided in the Design Manual for Roads and Bridges (DMRB) CA 185 – Vehicle Speed Measurement. Paragraph 3.1.1 of the document states that where speed measurements have been taken in either partially or entirely wet weather, the speeds recorded on a single carriageway should be increased by 4kph (2.5mph). The weather was monitored during the ATC survey period, from which it is apparent that rain is likely to have occurred on Wednesday 10th January only. Therefore the recorded speeds for this day have been increased by 2.5mph before the 85th percentile speeds have been calculated.



5.13 Based on the ATC data in the vicinity of the proposed site access junction, for the time periods 10am to 12pm and 2pm to 4pm on weekdays only, as per the guidance in CA 185, the 85th percentile vehicle speeds are summarised at Table 5.1.

Table 5.1: Surveyed 8	5 th %ile Speeds –	Hemingfield Road
-----------------------	-------------------------------	-------------------------

Location	Northbound	Southbound	Eastbound	Westbound
ATC1 – Hemingfield Road Western Site Boundary	35.0mph	34.7mph	-	-
ATC2 – Hemingfield Road Southern Site boundary	-	-	28.3mph	26.5mph

5.14 With reference to the survey location plan at **Appendix BGH3**, for the visibility splay to the north, the southbound (vehicles travelling towards the site access) 85th percentile vehicle speed of 34.7mph from ATC1 is relevant. As the surveyed 85th percentile speed is higher than the 30mph speed limit, this has been used to calculate the required visibility provision to the north of the proposed site access. Based on Manual for Streets, this equates to a visibility provision of 53 metres, which is 10 metres greater than the recommended provision for the speed limit of 30mph.

- 5.15 For the visibility splay to the south, the westbound (vehicles travelling towards the site access) 85th percentile vehicle speeds recorded by ATC2 show that this is lower than the 30mph speed limit at 26.5mph, which is to be expected as vehicles are travelling around the curve in the road. To be robust, the 2.4 metres x 43 metres visibility splay for the speed limit on Hemingfield Road is to be provided for the visibility to the south of the proposed site access.
- 5.16 The drawing at **Appendix BGH10** demonstrates that the visibility splays described above are achievable at the site access within the adopted highway or land within the site boundary, with some trimming back of the existing vegetation and trees required to the north of the proposed site access. The area behind the footway within the visibility splay to the south of the proposed site access is within the site boundary and so will be dedicated as public highway and will be kept clear of obstruction, to ensure that the visibility splay is readily maintained.

Bus Stop Relocation

5.17 The proposed site access drawing at **Appendix BGH10** also indicates that the existing southbound bus stop on Hemingfield Road would need to be relocated from its existing position near the proposed site access junction, to a location just



to the west of Mellwood Grove on the north side of Hemingfield Road, to allow adequate spacing between the bus stop and the proposed site access junction. The exact location of the bus stop is to be agreed with BMBC and the local public transport operators, however, it is envisaged that it could be enhanced to incorporate a bus shelter and associated facilities.

Swept Path Analysis

- 5.18 A swept path analysis of the proposed site access has been undertaken for a refuse vehicle. It is understood that the refuse vehicle used in Barnsley is a 10.3 metre long 3 axle rear steer vehicle. Drawing number 23/160/ATR/001 attached at Appendix BGH11 shows that a refuse vehicle of this size can comfortably access and egress the site from Hemingfield Road, at the proposed site access junction.
- 5.19 As the proposals form part of an application for outline planning permission, the details of the proposed site layout are to be agreed as part of any reserved matters application. However, turning heads will be provided within the site to accommodate a refuse vehicle, such that it can enter and exit the site via Hemingfield Road in a forward gear.

Pedestrian Access and Public Rights of Way

- 5.20 Footways will be provided to both sides of the proposed vehicular site access junction with Hemingfield Road, which will be 2.0 metres wide and will tie in to the existing footway provision on Hemingfield Road. This aligns with the design guidance contained within paragraph B.2.2.2 of the South Yorkshire Residential Design Guide.
- 5.21 The illustrative masterplan attached at **Appendix BGH2** shows that pedestrian access to the site will also be provided via pedestrian access at the southern site boundary, through the retention of the existing PRoW connections into the site from Briery Meadows and Garden Grove together with access to the underpass beneath Dearne Valley Parkway to the north.
- 5.22 Both existing PRoW routes through the site, as described in Section 3.0, will be retained along their current alignment, with Footpath No. 17 proposed to run through open space as indicated on the illustrative masterplan at **Appendix BGH2**. Suitable crossing points would be provided at the points where the retained PRoW crosses the vehicular access roads within the site. This approach was agreed with BMBC's PRoW Officer during the pre-application meeting.
- 5.23 Where the retained PRoWs continue as footpaths, BMBC's PRoW Officer suggested that these would need to be widened to a minimum of 1.8 metres. However, it was



discussed that Footpath No. 17 could be widened further to provide a route for pedestrians and cyclists through the site, to align with BMBCs future aspirations for active travel links in the vicinity of the site.

5.24 It is anticipated that the existing un-made surface treatment of both PRoWs would be upgraded within the site as part of the development. As the proposals form part of an application for outline planning permission, the detail of the retention of the PRoW and any surface treatment for the PRoW within the site is to be agreed at the reserved matters stage.

Parking Provision

- 5.25 Parking standards for new development in Barnsley are provided within BMBC's Parking SPD, which was adopted in November 2019.
- 5.26 The parking standards recommend that one space should be provided for dwellings with one or two bedrooms, and that two spaces should be provided for dwellings with three or more bedrooms.
- 5.27 Parking provision within the site will be provided in accordance with these local standards and will be agreed as part of any application for the approval of reserved matters.
- 5.28 Cycle parking will also be provided in accordance with the local standards.



6.0 TRIP GENERATION AND DISTRIBUTION

Vehicular Trip Generation

- 6.1 The Trip Rate Information Computer System (TRICS) has been used to calculate the vehicular trip generation for the proposed residential development. Under the 'Houses Privately Owned' category, all sites excluding Ireland and Greater London have been interrogated to establish vehicular trip rates for the proposed development.
- 6.2 These trip rates have been applied to 180 dwellings, an estimate of the likely site capacity, to establish the weekday morning and evening peak hour development trips. The trip rates and trip generation are shown in Table 6.1, with the full TRICS output attached at **Appendix BGH12.**

	Morning Po	eak Hour		Evening Peak Hour		
	In	Out	Two-Way	In	Out	Two-Way
TRICS Trip Rates	0.129	0.366	0.495	0.323	0.143	0.466
Trip Generation	23	66	89	58	26	84

 Table 6.1 – TRICS Trip Rates and Trip Generation for 180 Dwellings

6.3

Table 6.1 shows that the proposed development will generate around 89 two-way trips during the morning peak hour and 84 two-way trips during the evening peak hour. This equates to just over one vehicle movement per minute, a relatively low flow.

Vehicular Trip Distribution

- 6.4 It is noted that data from the 2021 National Census data has been released recently and this can be interrogated to determine the likely travel patterns of residents in the local area. However, it is also noted that the 2021 Census was undertaken at a time when various travel restrictions were in place throughout England due to the Covid-19 pandemic. On the official survey date of 21st March 2021, England was in its third national lockdown with a 'stay at home' order in place for non-essential travel. Obtaining travel pattern data from the 2021 Census data would therefore not be representative.
- 6.5 Therefore the likely distribution of the traffic predicted to be generated by the proposed development has been determined using origin/destination 2011 Census Data for "Location of usual residence and place of work by method of travel to work (MSOA level)". The location of usual residence was set as "Barnsley 029", the area



in which the site is situated, and the place of work was set to "All". The possible route choices have been determined based on the Google Maps route planning tool.

6.6 The resulting assignment of the generated traffic to and from the proposed development on the surrounding highway network during the morning and evening peak hours is shown at **Appendix BGH13**. The additional traffic movements through the road network in the vicinity of the site using the derived trip generation, is as shown on the diagrams at **Appendix BGH14**.

Multi-Modal Trip Generation

- 6.7 In order to estimate the number of trips that the proposed development will generate by all modes of travel, the anticipated modal split of movements to and from the site, determined from the Census data used for the trip distribution exercise, has been applied to the vehicle trips presented at Table 6.1.
- 6.8 The multi-modal trip generation has been estimated using the vehicle trip generation, on the basis that the number of vehicle trips would form 71% of trips during the weekday morning and evening peak hours. The resulting estimate of the multi-modal trip generation is presented in Table 6.2.

	% Split	Morning Peak Hour			Evening Peak Hour		
		In	Out	Two-Way	In	Out	Two-Way
Car (single occupancy)	71%	23	66	89	58	26	84
Pedestrian	6%	2	6	8	5	2	7
Cycle	1%	0	1	1	1	0	1
Bus	7%	2	6	8	6	2	8
Rail	6%	2	5	7	5	2	7
Car (multiple occupancy)	8%	2	7	9	6	3	9
Motorcyclist	1%	0	1	1	1	0	1
Total	100%	31	92	123	82	365	117

Table 6.2: Multi-Modal Trip Generation


- 6.9 The multi-modal trip generation at Table 6.2 shows that based on existing mode share 8 trips either to or from the site are anticipated to be made on foot during the morning peak hour with 7 on foot during the evening peak hour. During both the morning and evening peak hours, 1 trip in or out of the site is anticipated to be made by cycle. It is also anticipated that there will be trips made by public transport, 8 in both peaks, car (multi occupancy trips as passengers), 9 in both peaks, and motorcyclists. It is however considered that it is expected that a greater no of residents would utilise active travel given the active implementation of the site Travel Plan.
- 6.10 The modal split percentages at Table 6.2 are referenced in the TP, where an initial target for a 10% reduction in single occupancy car journeys has been set. Therefore, the impact of the proposed development generated traffic is likely to be less than assessed in this TA.



7.0 BACKGROUND TRAFFIC GROWTH

Growth Factors

- 7.1 Historic good practice guidance for TAs is set out within the Department for Transport's (DfT) 'Guidance on Transport Assessment' sets out that traffic flows should be projected to a future year 5 years post submission of the planning application, which would be 2029.
- The traffic flows for the surveyed junctions have been projected by applying growth factors which have been determined using TEMPro (v8.1), for the Barnsley 029 MSOA. The Road Traffic Forecasts (RTF) adjusted growth rates are set out in Table 7.1.

Table 7.1 – TEMPro Adjus	ed Road Traffic	Forecasts G	irowth Factors
--------------------------	-----------------	-------------	----------------

MSQA	RTF Growth Factors				
NISOA	AM Peak Period	PM Peak Period			
2023 – 2029 Doncaster 033	1.0579	1.0581			

7.3 The factors indicate a circa 5.8% growth in local background traffic between 2023 and 2029 and take account of planned increases in households and employment figures. The growth factors have been applied to the 2023 existing peak hour flows at **Appendix BGH4**, resulting in the 2029 growthed traffic flows as shown on the diagrams at **Appendix BGH15**.

Committed Development

- 7.4 Following a search of the planning portal, a committed development at the former Wombwell School site has been identified and accounted for within this TA. Planning application number 2019/0089 for a residential development of 235 dwellings was approved in April 2020. It is understood that development on the site has commenced.
- 7.5 AECOM prepared a TA for the planning application, which is dated 11th January 2019. Appendix D (diagram 12) of the AECOM TA includes the total development generated flows for the committed development site, including those passing through the Hemingfield Roundabout, which have been included in this TA as shown on the diagrams at **Appendix BGH16**.



7.6 The 2029 growthed traffic flows at **Appendix BGH15** have been added to the committed development flows at **Appendix BGH16** to provide the 2029 base traffic flows at **Appendix BGH17**.



8.0 TRAFFIC IMPACT OPERATIONAL ASSESSMENTS

Scope of Assessment

- 8.1 A threshold of 30 vehicles or more in either peak hour was set out within the Department for Transport's 'Guidance on Transport Assessment', to establish the need for operational assessment of a junction. Whilst this guidance has been withdrawn, it is still a valid reference document. It is considered that this 30 two-way trip threshold (i.e. an average of an additional vehicle movement every 2 minutes) provides a helpful starting point for establishing the need for the operational assessment of the impact of development generated trips.
- 8.2 Table 6.2 provides a summary of the number of additional trips which will be generated on the local highway network in the vicinity of the site, based on the assigned development generated trips at **Appendix BGH14**.

Junction	Additional Two-Way Trip Generation				
	Morning Peak Hour	Evening Peak Hour			
Site Access Junction	89	84			
Hemingfield Road Roundabout	71	67			
Briery Meadow/Hemingfield Road	17	17			
School Street/Cemetery Road	17	16			
A6195 West	31	29			
A6195 East	19	18			
Hemingfield Road (north of Hemingfield Road Roundabout)	22	21			

Table 6.2 – Additional Two-Way Trip Generation at Junctions

8.3

It is clear from Table 6.2 that the proposed development will generate 30 or more two-way trips at the proposed site access junction with Hemingfield Road and at the Hemingfield Road Roundabout. Therefore, in the future year assessment which follows, operational assessment has been undertaken for these two junctions.



- 8.4 It is acknowledged that Table 6.2 refers to 31 two-way trips predicted to be generated by the proposed development site to or from the west on the A6195 Dearne Valley Parkway, which is one vehicle over the 30 two-way trip threshold. However, the 30 two-way trips is not necessarily an absolute point above which operational assessment should be undertaken. As set out at paragraph 8.1, it simply provides a helpful starting point for establishing the need for operational assessment.
- 8.5 The percentage impact on the A6195 Dearne Valley Parkway west, comparing the additional proposed development trips to the 2029 base traffic flows, is only 1.6% during the weekday morning peak hour and 1.2% during the weekday evening peak hour, which is clearly not significant and would not be noticeable to drivers on the road.
- 8.6 The 31 additional development generated trips that will be generated to the west on the A6195 Dearne Valley Parkway, will disperse at the roundabout junctions to the west of the Hemingfield Road Roundabout. It is clear that traffic would disperse into Hoyland and the nearby employment sites to the west of Hemingfield. The proposed development generated trips would therefore certainly be below 30 twoway trips well before the M1 Junction 36, which is approximately 4.7 kilometres to the south-west of the site therefore no assessment is required of this junction.

Assessment Traffic Flows

8.7 To calculate the traffic flows for the 2029 predicted scenario, the 2029 base traffic flows at **Appendix BGH17** have been added to the proposed development generated traffic flow diagrams at **Appendix BGH14**. The resulting 2029 predicted traffic flows are shown on the diagrams at **Appendix BGH18**.

Operational Assessment

Hemingfield Road Roundabout

- 8.8 The operation of the Hemingfield Road Roundabout junction has been assessed for the 2029 base and predicted weekday morning and evening peak hours, using the ARCADY element of the Junctions 9 modelling software. The results of the modelling are summarised in Tables 7.2 and 7.3 and the full model outputs are attached at **Appendix BGH5**.
- 8.9 As described in Section 3.0, the Ratio of Flow to Capacity (RFC) results are provided for the junction. The RFC is a measure which is commonly used to judge the acceptability of new junction designs and also existing junctions in relation to predicting how they will operate. At existing junctions in urban areas, an RFC value of 1.00 is generally used to identify a junction operating at capacity. An RFC value



of less than 0.85 is typically used to indicate that a new junction is predicted to operate at a satisfactory level of performance. If a junction operates between 0.85 and 1.0 it is normal practice to give further consideration to the operation of the junction. The maximum queues are presented in Passenger Car Unit (PCU) format, with a PCU length equating to 5.75 metres.

Movement	Weekday Mo Peak Hour	rning	Weekday Evening Peak Hour		
	RFC	Queue (PCU)	RFC	Queue (PCU)	
A6195 Dearne Valley Parkway (East)	0.46	1	0.66	2	
Hemingfield Road (South)	0.24	0	0.23	0	
A6195 Dearne Valley Parkway (West)	0.49	1	0.60	2	
Hemingfield Road (North)	0.31	1	0.34	1	

Table 8.1: 2029 Base Operational Assessment Hemingfield Road Roundabout

8.10

Table 8.1 shows that the Hemingfield Road Roundabout is predicted to continue operating well within capacity at a future year of 2029, allowing for background traffic growth but without traffic generated by the proposed development. The maximum RFC of 0.66 is predicted to occur on the A6195 Dearne Valley Parkway (East) arm of the roundabout during the weekday evening peak hour, with an associated queue of 2 vehicles.

Table	8.2:	2029	Predicted	Opera	tional	Assessment
			Hemin	ofield	Road	Roundabout

Movement	Weekday Mor Peak Hour	ning	Weekday Evening Peak Hour			
	RFC	Queue (PCU)	RFC	Queue (PCU)		
A6195 Dearne Valley Parkway (East)	0.46	1	0.67	2		
Hemingfield Road (South)	0.29	0	0.25	0		
A6195 Dearne Valley Parkway (West)	0.50	1	0.61	2		
Hemingfield Road (North)	0.32	1	0.37	1		



8.11 Table 8.2 then shows that the Hemingfield Road Roundabout is predicted to continue operating well within capacity at a future year of 2029, with the addition of traffic generated by the proposed development. The maximum RFC of 0.67 is predicted to occur on the A6195 Dearne Valley Parkway (East) arm of the roundabout during the weekday evening peak hour, with an associated queue of 2 vehicles. This equates to an increase in the maximum RFC of only 0.01, with no increase in queueing.

Proposed Site Access Junction with Hemingfield Road

8.12 The operation of the proposed site access junction with Hemingfield Road has been assessed for the 2029 predicted weekday morning and evening peak hours, using the PICADY element of the Junctions 9 modelling software. The results of the modelling are summarised in Table 8.3 and the full model outputs are attached at **Appendix BGH5**.

11000000	0100 / 100000				
Movement	Weekday Mor Peak Hour	rning	Weekday Evening Peak Hour		
	RFC	Queue (PCU)	RFC	Queue (PCU)	
Site Access - (Left & Right Out)	0.15	0	0.07	0	
Hemingfield Road - (Ahead & Right In)	0.01	0	0.02	0	

Table 8.3: 2029 Predicted Operational Assessment Proposed Site Access Junction with Hemingfield Road

8.13 Table 8.3 shows that the proposed site access junction with Hemingfield Road is predicted to operate well within capacity at a future year of 2029, with traffic generated by the proposed development. The maximum RFC of 0.15 is predicted to occur on the site access arm during the morning peak hour, with no associated queuing.

Sensitivity Test – Proposed Site Access Junction

8.14 A sensitivity test has been conducted to analyse the proposed site access junction's operational capacity in the future, if additional dwellings are built on the remaining safeguarded land located to the east of the proposed development site. It is expected that if the land to the east is developed, it would be accessed via Beech House Road. However, to provide a robust assessment, the test has evaluated the Hemingfield Road junction's ability to serve a total of 400 dwellings, which is inclusive of the estimated capacity of 180 dwellings considered achievable on the application site which is the subject of this TA.



8.15 The traffic flow diagrams for the predicted trip generation for 400 dwellings, based on the trip rates at Table 6.1 of this TA, are included at **Appendix BGH19**. These have been added to the 2029 base traffic flows at **Appendix BGH17**, resulting in the 2029 predicted sensitivity test traffic flows shown on the diagrams at **Appendix BGH20**.

8.16 The results of the sensitivity test are shown in Table 8.4.

Movement	Weekday Mor Peak Hour	rning	Weekday Evening Peak Hour		
	RFC	Queue (PCU)	RFC	Queue (PCU)	
Site Access - (Left & Right Out)	0.35	1	0.15	0	
Hemingfield Road - (Ahead & Right In)	0.02	0	0.05	0	

Table 8.4: 2029 Predicted Operational Assessment – Sensitivity Test Proposed Site Access Junction with Hemingfield Road (400 Dwellings)

8.17 The results at Table 8.4 indicate that even if the proposed site access junction with Hemingfield Road was to serve a total of 400 dwellings (in the unlikely scenario that access was not provided to the east), it is predicted to remain well within its operational capacity. The maximum RFC of 0.35 is expected to occur on the site access arm during the morning peak hour, resulting in an associated queue of only 1 vehicle.



9.0 SUMMARY AND CONCLUSIONS

- 9.1 This Transport Assessment (TA) has been prepared by Bryan G Hall to support an application for outline planning permission by Ptarmigan Land North Ltd for a proposed residential development, on land between Hemingfield Road and the A6195 Dearne Valley Parkway in Hemingfield, Barnsley.
- 9.2 The description of the development for the planning application is as follows:

"Application for outline planning permission for the demolition of existing structures and the erection of residential dwellings with associated infrastructure and open space. All matters reserved except for means of access to, but not within, the site."

- 9.3 The site forms part of a wider area of land which is identified in the Barnsley Local Plan as safeguarded land for future development. The safeguarded land is known as site SL6 'Land North East of Hemingfield', with an area of 18.2 hectares. The proposed development site is located broadly on the western third of the wider safeguarded land.
- 9.4 A pre-application advice request was submitted to Barnsley Metropolitan Borough Council in November 2023 and subsequently a pre-application meeting took place on 13th December 2023. The minutes from the meeting were issued to the Highways Officer and a PRoW Officer who attended the meeting. At the time of writing, the response to the pre-application meeting and the BMBC's formal written pre-application advice has not yet been received. However, the scoping points discussed during the meeting relating to the proposed site access arrangement, traffic impact and the treatment of the existing PRoW through the site have been taken into account as part of this TA.
- 9.5 A description of the site, the existing local highway network in the vicinity of the site and the existing PRoW which pass through the site has been provided. Traffic surveys were undertaken on Tuesday 27th June 2023 at the Hemingfield Road Roundabout and the Briery Meadows/Hemingfield Road and Cemetery Road/School Street priority T-junctions to ascertain current traffic flows. Two 7 day ATCs were also put in place on Hemingfield Road in the vicinity of the proposed site access to collect traffic and speed data.



- 9.6 The existing weekday morning and evening peak hours have been determined for the surveyed network, and the operation of the Hemingfield Road Roundabout has been assessed, which shows that the junction currently operates within capacity.
- 9.7 It has been demonstrated that the traffic impact of the development at the other two surveyed junctions is below 30 two-way trips and so operational assessment to assess the impact of development traffic is not required at these junctions.
- 9.8 A review of personal injury collision data for the most recent 5 year period available indicates that there are no existing road safety issues which would be exacerbated by the proposed development.
- 9.9 It has been demonstrated that the site is accessible using sustainable modes of transport, such as walking, cycling and public transport. The site is well located to promote trips on foot to local amenities, including a Primary School. There are a number of nearby Secondary Schools which are accessible from the site by bus.
- 9.10 Bus services are provided from bus stops within a short walking distance of the centre of the site, providing services to key leisure, employment and transport hubs, such as Barnsley Interchange and Cortonwood Retail Park. Wombwell Railway Station is located within an approximate 4 minute cycle ride or 850 metre walk from the site, and the station offers a range of local rail services, and an opportunity to connect to national services.
- 9.11 Details of the proposed site access arrangements have been provided in this TA. The site will be accessed by way of a new ghost island right turn priority T-junction on Hemingfield Road, at the western site boundary. The existing problem of onstreet parking was identified and the solution has been developed to address it. The widening of the northbound lane and introduction of a right turn ghost island means that traffic can continue to flow while vehicles are waiting to turn right into the site. The 4.0 metre wide northbound through lane is proposed to accommodate current on-street parking on Hemingfield Road in the vicinity of the proposed site access junction, which is associated with existing residential properties to the western side of the carriageway. The visibility requirement at the site access junction has been calculated based on 85th percentile vehicle speeds determined from the ATC surveys. It has been demonstrated that suitable visibility splays of 2.4 metres x 53 metres to the north and 2.4 metres x 43 metres to the south are achievable at the proposed site access junction, in accordance with guidance in Manual for Streets.
- 9.12 The existing southbound bus stop is to be relocated from its existing position near the proposed site access junction, to a location just to the west of Mellwood Grove.



41

The exact location of the bus stop is to be agreed with BMBC and the local public transport operators.

- 9.13 Swept path analysis of the proposed site access has been undertaken, which demonstrates that it can be used comfortably by a refuse vehicle.
- 9.14 Pedestrian access to the site will be provided via 2 metre wide footways to both sides of the proposed vehicular site access junction with Hemingfield Road. Pedestrian access to the site will also be provided via pedestrian access at the southern site boundary, through the retention of the existing PRoW connections into the site from Briery Meadows and Garden Grove together with access to the underpass beneath Dearne Valley Parkway to the north. The PRoW routes which pass through the site will be retained along the current alignment, with suitable crossing points to be provided where the retained north/south PRoW crosses the vehicular access roads within the site. The surface treatment and width of the retained PRoW through the site are to be agreed with BMBC, and will be dependent on whether or not they will cater for just pedestrians or cyclists as well.
- 9.15 Parking for cars and cycle parking will be provided in line with the standards set out within the 'Parking' SPD adopted by BMBC.
- 9.16 The TRICS database has been used to establish the trip generation associated with the development proposals. The proposed development is anticipated to generate around 89 two-way trips during the morning peak hour and 84 two-way trips during the evening peak hour. The development generated trips have been distributed onto the local highway network based on 2011 Census data.
- 9.17 An estimate of the multi-modal trip generation for the site has been provided, based on the modal split percentages determined from the 2011 Census data. These are also referred to in the accompanying Travel Plan, to set initial modal split targets for a reduction in single occupancy car journeys.
- 9.18 To account for background traffic growth on the network, the relevant growth factors have been obtained using TEMPro. These factors have been applied to the 2023 surveyed traffic flows, to project them to a future year of 2029. Committed development traffic has also been added at the Hemingfield Road Roundabout, for the residential development located at the former Wombwell School site. The proposed development generated flows have then been added to the 2029 base flows, which is considered to be robust given that the proposed development site traffic is likely to be accounted for in the growth factors.



- 9.19 It is predicted that 31 two-way trips could be generated by the proposed development site to or from the west on the A6195 Dearne Valley Parkway. This is just one vehicle over the 30 two-way trip threshold which is used to determine whether or not operational assessment of a junction should be undertaken. It has been demonstrated that the percentage impact of these development generated trips on the A6195 Dearne Valley Parkway to the west of the Hemingfield Road Roundabout is minimal, and that the additional development generated trips would certainly be way below the 30 two-way trip threshold by the time development traffic reaches the M1 Junction 36 therefore no assessment is required of this junction.
- 9.20 Operational assessment of the Hemingfield Road Roundabout has been undertaken for the 2029 future year. This shows that the junction is predicted to continue operating within capacity, both with and without the proposed development trip generation. It has also been demonstrated that the proposed site access junction will operate within capacity. Therefore the proposed development generated trips will have no impact on the operation of junctions on the local highway network in the vicinity of the site.
- 9.21 A sensitivity test has also been undertaken, which demonstrates that the proposed site access junction would have sufficient capacity to accommodate future development on the safeguarded land. This has been tested on an estimated capacity of 400 dwellings, which is inclusive of the estimated 180 dwellings which would be delivered on the application site which is the subject of this TA.
- 9.22 This Transport Assessment has demonstrated that the proposed development is in accordance with national and local planning policy and guidance. It is therefore concluded that there are no justifiable highways or transport related reasons why the proposed development should not be granted planning permission.



APPENDIX BGH 1



w

LONDON T 0203 5532336

<u>www.bryanghall.co.uk</u>

<u>twitter.com/Bryanghall1</u>

in Bryan G Hall

CHAS

smas

OWORKSAFE

LEEDS T 0113 246 1555

Suite E15 | Josephs Well Hanover Walk | LEEDS | LS3 1AB

transportleeds@hrvanahall.co.uk

Bryan G Hall Limited shall not be liable for the use of this or any associated document, for any purpose, by any person other than that for which they were provided.

Do not scale from this drawing, use figured dimensions only. It is the contractors responsibility to check and verify all dimensions on site. Any discrepancies to be reported immediately. IF IN DOUBT ASK.

Bryan G Hall Limited has not checked or verified, and shall therefore not be liable for any inaccuracies which may be attributable to any base plan(s) reports, data or - information provided by the client, or purchased by the consultant on the client's behalf, that may have been utilised within this drawing.

Title:	SITE LOCA	SITE LOCATION PLAN					
Status:	FOR PL	ANNING		Project			
Scale: N.T.S. Size: A3 - 420 x 297	Drawn: PP	Chkd: RD	Appvd: MC				

HEMINGFIELD ROAD, BARNSLEY

Drawing No: Job No:

23/160/LOC/005 23-160

Revision: -Date: 19/01/2024

APPENDIX BGH 2



TE: H	HEMINGFIELD, BARNSLEY								
tle: IL	LUSTRATIVE MA	STERPLAN	N						
CALE AT A2:	DATE:	DRAWN:	CHECKED:						
1:1250	DEC 2023	SSH							
ROJECT NO:	DRAWING NO:	DRAWING NO:		DRAWING NO:					
2344		2344:01		2344:01					

APPENDIX BGH 3

Bryan G Hall Ltd. Registered in England & Wales Co No. 4104802 This drawing is copyright and that

It is the co

IN DOUBT ASK.

Ultrapharmacy could 2020 TATOLOGY Contra Vellevieren rieminafield Rd ST UR WOWS The Fills CE Primary School school St English Rose Tearoom Top Cats Cat hemingfield Name Floristry "Ton Lo

h Rose ounge georeet					RUGREPHERS	the state	70.00	
BRYAN G HALL			Rev:	Date:	Amendment:	DRN	СНК	APR
CONSULTING CIVIL & TRANSPORTATION PLANNING ENGINEERS	Title: TRAFFIC	SURVEY LOCATION PLAN	Client:		-			
Copyright Reserved Bryan G Hall Ltd. LEEDS T 0113 246 1555 LONDON T 0203 5532336			Project		-			
Suite E15 Josephs Well	Scale: N.T.S.	Size: A3 - 297 x 420						
Hanover Walk LEEDS LS3 1AB		Child: MC Applied: MC		Drawing No	b: 23/160/LOC/001	Revision:	-	
E transportieeas@bryangnaii.co.uk				Job No:	23-160	Date: 21	/06/202	.3

IF IN DOUBT ASK.

Bryan G Hall Ltd. Registered in England & Wales Co No. 4104802 This drawing is copyright and shall not be reproduced nor used fo It is the contractors responsibility to ensure full compliance with th

It is the con Materials n dards/Codes of practice or materials nity with relevant British (to be deleteriou to health & safet specified on this project.



			eld Rd		mingfiel	d Rd					
		the	G	oogle		R	100	Are.	Briery N		
BRYA	N G H A	LL				Rev:	Date:	Amendment:		DRN	CHK APF
CONSULTING CIVIL & TRA	NSPORTATION PLANNI	NG ENGINEERS	Title: A	TC LOCATION F	PLAN	Client:		-			
Copyrigi	ht Reserved Bryan G Hall Ltd. LONDON ⊺ 0203 5532336	CHAS				Project:		HEMINGFIELD,	BARNSLEY-		
Suite E15 Josephs Well Hanaver Walk LEEDS 152 14P	www.bryanghall.co.uk	Civitania *	Scale: N.T.S.	Size: A	A3 - 297 x 420						
E transportleeds@bryanghall.co.uk	Bryan G Hall	SMAS OWORKSAFE	Drawn: RD	Chkd: MC	Appvd: MC		Drawing No	23/160/LOC/003		Revision:	-
Hanover Walk LEEDS LS3 1AB E <u>transportleeds@bryanghall.co.uk</u>	witter.com/Bryanghall1	SMAS WORKSAFE	Drawn: RD	Chkd: MC	Appvd: MC		Drawing No Job No:	23/160/LOC/003 23-160		Revision: Date: 21	- /12/2023

APPENDIX BGH 4





APPENDIX BGH 5



Junctions 9 ARCADY 9 - Roundabout Module Version: 9.5.1.7462 © Copyright TRL Limited, 2019 For sales and distribution information, program advice and maintenance, contact TRL: +44 (0)1344 379777 software@trl.co.uk www.trlsoftware.co.uk The users of this computer program for the solution of an engineering problem are in no way relieved of their responsibility for the correctness of the solution

Filename: 23-160 Hemingfield Road Roundabout Model.j9 **Path:** Y:\2023\23-151 to 23-175\23-160 Residential Development Hemingfield, Barnsley\Technical\Junction Modelling\Hemingfield Road Roundabout **Report generation date:** 18/01/2024 14:51:45

- »Existing Layout 2023 Existing, AM Peak Hour
- »Existing Layout 2023 Existing, PM Peak Hour
- »Existing Layout 2029 Base, AM Peak Hour
- »Existing Layout 2029 Base, PM Peak Hour
- »Existing Layout 2029 Predicted, AM Peak Hour
- »Existing Layout 2029 Predicted, PM Peak Hour

Summary of junction performance

	AM Peak Hour				PM Peak Hour					
	Set ID	Queue (PCU)	Delay (s)	RFC	LOS	Set ID	Queue (PCU)	Delay (s)	RFC	LOS
		Existing Layout - 2023 Existing								
1 - Dearne Valley Parkway (East)		0.8	2.88	0.43	Α		1.7	4.18	0.62	Α
2 - Hemingfield Road (South)	D1	0.3	4.05	0.21	Α	D2	0.2	4.48	0.19	Α
3 - Dearne Valley Parkway (West)		0.9	2.96	0.45	А	02	1.3	3.59	0.56	А
4 - Hemingfield Road (North)		0.4	6.28	0.28	А		0.4	7.30	0.30	А
	Existing Layout - 2029 Base									
1 - Dearne Valley Parkway (East)		0.9	3.04	0.46	А		2.0	4.69	0.66	Α
2 - Hemingfield Road (South)	D2	0.3	4.30	0.24	А	D4	0.3	4.86	0.23	А
3 - Dearne Valley Parkway (West)	03	1.0	3.16	0.49	А	04	1.6	3.97	0.60	А
4 - Hemingfield Road (North)		0.5	6.81	0.31	А		0.5	8.14	0.34	А
			Existi	ng La	yout ·	- 2029	Predicted			
1 - Dearne Valley Parkway (East)		0.9	3.07	0.46	Α		2.1	4.92	0.67	Α
2 - Hemingfield Road (South)	DE	0.4	4.57	0.29	А	De	0.3	4.99	0.25	А
3 - Dearne Valley Parkway (West)	05	1.1	3.23	0.50	А	00	1.7	4.10	0.61	А
4 - Hemingfield Road (North)		0.5	7.02	0.32	Α		0.6	8.65	0.37	А

Values shown are the highest values encountered over all time segments. Delay is the maximum value of average delay per arriving vehicle.



File summary

File Description

Title	Hemingfield Road Roundabout Model
Location	Hemingfield, Barnsley
Site number	
Date	11/01/2024
Version	
Status	(new file)
Identifier	
Client	Ptarmigan Land North Ltd
Jobnumber	23-160
Enumerator	BRYANGHALL\design
Description	

Units

Distance units	Speed units	Traffic units input	Traffic units results	Flow units	Average delay units	Total delay units	Rate of delay units
m	kph	PCU	PCU	perHour	s	-Min	perMin



Flows show original traffic demand (PCU/hr).

The junction diagram reflects the last run of Junctions.





Analysis Options

Calculate Queue Percentiles Calculate residual capacity		RFC Threshold	Average Delay threshold (s)	Queue threshold (PCU)	
		0.85	36.00	20.00	

Demand Set Summary

ID	Scenario name	Time Period name	Traffic profile type	Start time (HH:mm)	Finish time (HH:mm)	Time segment length (min)
D1	2023 Existing	AM Peak Hour	ONE HOUR	07:45	09:15	15
D2	2023 Existing	PM Peak Hour	ONE HOUR	15:45	17:15	15
D3	2029 Base	AM Peak Hour	ONE HOUR	07:45	09:15	15
D4	2029 Base	PM Peak Hour	ONE HOUR	15:45	17:15	15
D5	2029 Predicted	AM Peak Hour	ONE HOUR	07:45	09:15	15
D6	2029 Predicted	PM Peak Hour	ONE HOUR	15:45	17:15	15

Analysis Set Details

ID	Name	Network flow scaling factor (%)
A1	Existing Layout	100.000



Existing Layout - 2023 Existing, AM Peak Hour

Data Errors and Warnings

No errors or warnings

Junction Network

Junctions

Junction	Name	Junction type	Use circulating lanes	Arm order	Junction Delay (s)	Junction LOS
1	Hemingfield Road Roundabout	Standard Roundabout		1, 2, 3, 4	3.32	А

Junction Network Options

Driving side	Lighting		
Left	Normal/unknown		

Arms

Arms

Arm	Name	Description
1	Dearne Valley Parkway (East)	
2	Hemingfield Road (South)	
3	Dearne Valley Parkway (West)	
4	Hemingfield Road (North)	

Roundabout Geometry

Arm	V - Approach road half-width (m)	E - Entry width (m)	I' - Effective flare length (m)	R - Entry radius (m)	D - Inscribed circle diameter (m)	PHI - Conflict (entry) angle (deg)	Exit only
1 - Dearne Valley Parkway (East)	7.50	8.10	19.4	18.0	79.0	27.5	
2 - Hemingfield Road (South)	3.90	7.00	7.7	28.0	79.0	22.0	
3 - Dearne Valley Parkway (West)	7.50	9.00	8.9	18.0	79.0	25.0	
4 - Hemingfield Road (North)	2.90	5.70	13.4	16.0	79.0	48.0	

Slope / Intercept / Capacity

Roundabout Slope and Intercept used in model

Arm	Final slope	Final intercept (PCU/hr)
1 - Dearne Valley Parkway (East)	0.585	2446
2 - Hemingfield Road (South)	0.478	1659
3 - Dearne Valley Parkway (West)	0.610	2598
4 - Hemingfield Road (North)	0.396	1284

The slope and intercept shown above include any corrections and adjustments.

Traffic Demand

Demand Set Details

ID	Scenario name	Time Period name	Traffic profile type	Start time (HH:mm)	Finish time (HH:mm)	Time segment length (min)
D1	2023 Existing	AM Peak Hour	ONE HOUR	07:45	09:15	15

Vehicle mix source	PCU Factor for a HV (PCU)
HV Percentages	2.00



Demand overview (Traffic)

Arm	Linked arm	Use O-D data	Average Demand (PCU/hr)	Scaling Factor (%)
1 - Dearne Valley Parkway (East)		~	923	100.000
2 - Hemingfield Road (South)		~	222	100.000
3 - Dearne Valley Parkway (West)		✓	1010	100.000
4 - Hemingfield Road (North)		~	209	100.000

Origin-Destination Data

Demand (PCU/hr)

			То		
		1 - Dearne Valley Parkway (East)	2 - Hemingfield Road (South)	3 - Dearne Valley Parkway (West)	4 - Hemingfield Road (North)
	1 - Dearne Valley Parkway (East)	7	26	817	73
From	2 - Hemingfield Road (South)	56	0	85	81
	3 - Dearne Valley Parkway (West)	971	36	0	3
	4 - Hemingfield Road (North)	126	72	6	5

Vehicle Mix

Heavy Vehicle Percentages

	То											
		1 - Dearne Valley Parkway (East)	2 - Hemingfield Road (South)	3 - Dearne Valley Parkway (West)	4 - Hemingfield Road (North)							
	1 - Dearne Valley Parkway (East)	0	8	9	1							
From	2 - Hemingfield Road (South)	8	0	5	4							
	3 - Dearne Valley Parkway (West)	10	6	0	50							
	4 - Hemingfield Road (North)	2	3	0	0							

Results

Results Summary for whole modelled period

Arm	Max RFC	Max Delay (s)	Max Queue (PCU)	Max LOS
1 - Dearne Valley Parkway (East)	0.43	0.43 2.88		А
2 - Hemingfield Road (South)	0.21	4.05	0.3	А
3 - Dearne Valley Parkway (West)	0.45	2.96	0.9	А
4 - Hemingfield Road (North)	0.28	6.28	0.4	A

Main Results for each time segment

07:45 - 08:00

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	695	89	2394	0.290	693	0.4	2.289	А
2 - Hemingfield Road (South)	167	682	1333	0.125	167	0.2	3.250	А
3 - Dearne Valley Parkway (West)	760	167	2497	0.305	758	0.5	2.275	А
4 - Hemingfield Road (North)	157	803	965	0.163	157	0.2	4.549	A



08:00 - 08:15

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	830	107	2383	0.348	829	0.6	2.507	А
2 - Hemingfield Road (South)	200	816	1269	0.157	199	0.2	3.546	А
3 - Dearne Valley Parkway (West)	908	199	2477	0.367	907	0.6	2.520	A
4 - Hemingfield Road (North)	188	961	902	0.208	188	0.3	5.149	A

08:15 - 08:30

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	1016	131	2369	0.429	1015	0.8	2.876	А
2 - Hemingfield Road (South)	244	999	1181	0.207	244	0.3	4.046	А
3 - Dearne Valley Parkway (West)	1112	244	2449	0.454	1111	0.9	2.954	А
4 - Hemingfield Road (North)	230	1177	817	0.282	230	0.4	6.261	A

08:30 - 08:45

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	1016	131	2369	0.429	1016	0.8	2.879	А
2 - Hemingfield Road (South)	244	1000	1181	0.207	244	0.3	4.050	A
3 - Dearne Valley Parkway (West)	1112	244	2449	0.454	1112	0.9	2.959	А
4 - Hemingfield Road (North)	230	1178	816	0.282	230	0.4	6.275	A

08:45 - 09:00

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	830	107	2383	0.348	831	0.6	2.512	A
2 - Hemingfield Road (South)	200	817	1268	0.157	200	0.2	3.553	А
3 - Dearne Valley Parkway (West)	908	200	2476	0.367	909	0.6	2.528	А
4 - Hemingfield Road (North)	188	963	902	0.208	188	0.3	5.164	A

09:00 - 09:15

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	695	90	2393	0.290	695	0.4	2.296	А
2 - Hemingfield Road (South)	167	684	1332	0.126	167	0.2	3.257	А
3 - Dearne Valley Parkway (West)	760	167	2496	0.305	761	0.5	2.282	A
4 - Hemingfield Road (North)	157	806	964	0.163	158	0.2	4.567	А



Existing Layout - 2023 Existing, PM Peak Hour

Data Errors and Warnings

No errors or warnings

Junction Network

Junctions

Junction	Name	Junction type	Use circulating lanes	Arm order	Junction Delay (s)	Junction LOS
1	Hemingfield Road Roundabout	Standard Roundabout		1, 2, 3, 4	4.16	А

Junction Network Options

Driving side	Lighting
Left	Normal/unknown

Traffic Demand

Demand Set Details

ID	Scenario name	Time Period name	Traffic profile type	Start time (HH:mm)	Finish time (HH:mm)	Time segment length (min)
D2	2023 Existing	PM Peak Hour	ONE HOUR	15:45	17:15	15

Vehicle mix source	PCU Factor for a HV (PCU)
HV Percentages	2.00

Demand overview (Traffic)

Arm	Linked arm	Use O-D data	Average Demand (PCU/hr)	Scaling Factor (%)
1 - Dearne Valley Parkway (East)		~	1313	100.000
2 - Hemingfield Road (South)		~	174	100.000
3 - Dearne Valley Parkway (West)		✓	1224	100.000
4 - Hemingfield Road (North)		✓	200	100.000

Origin-Destination Data

Demand (PCU/hr)

			То		
		1 - Dearne Valley Parkway (East)	2 - Hemingfield Road (South)	3 - Dearne Valley Parkway (West)	4 - Hemingfield Road (North)
	1 - Dearne Valley Parkway (East)	6	110	1053	144
From	2 - Hemingfield Road (South)	56	0	44	74
	3 - Dearne Valley Parkway (West)	1128	81	0	15
	4 - Hemingfield Road (North)	114	73	12	1

Vehicle Mix

Heavy Vehicle Percentages

		То										
		1 - Dearne Valley Parkway (East)	2 - Hemingfield Road (South)	3 - Dearne Valley Parkway (West)	4 - Hemingfield Road (North)							
	1 - Dearne Valley Parkway (East)	0	3	4	2							
From	2 - Hemingfield Road (South)	8	0	0	1							
	3 - Dearne Valley Parkway (West)	6	3	0	7							
	4 - Hemingfield Road (North)	3	4	0	0							



Results

Results Summary for whole modelled period

Arm	Max RFC	Max Delay (s)	Max Queue (PCU)	Max LOS	
1 - Dearne Valley Parkway (East)	0.62	4.18	1.7	А	
2 - Hemingfield Road (South)	0.19	4.48	0.2	A	
3 - Dearne Valley Parkway (West)	0.56	3.59	1.3	А	
4 - Hemingfield Road (North)	0.30	7.30	0.4	А	

Main Results for each time segment

15:45 - 16:00

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	988	125	2373	0.417	986	0.7	2.685	А
2 - Hemingfield Road (South)	131	913	1222	0.107	131	0.1	3.390	A
3 - Dearne Valley Parkway (West)	921	211	2470	0.373	919	0.6	2.452	А
4 - Hemingfield Road (North)	151	954	905	0.166	150	0.2	4.911	A

16:00 - 16:15

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	1180	150	2358	0.501	1179	1.0	3.163	А
2 - Hemingfield Road (South)	156	1092	1137	0.138	156	0.2	3.777	А
3 - Dearne Valley Parkway (West)	1100	252	2444	0.450	1099	0.9	2.831	A
4 - Hemingfield Road (North)	180	1142	831	0.216	179	0.3	5.698	A

16:15 - 16:30

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	1446	183	2338	0.618	1443	1.7	4.157	А
2 - Hemingfield Road (South)	192	1337	1020	0.188	191	0.2	4.469	А
3 - Dearne Valley Parkway (West)	1348	309	2410	0.559	1346	1.3	3.573	А
4 - Hemingfield Road (North)	220	1397	730	0.302	220	0.4	7.273	А

16:30 - 16:45

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	1446	184	2338	0.618	1446	1.7	4.181	А
2 - Hemingfield Road (South)	192	1339	1019	0.188	192	0.2	4.476	А
3 - Dearne Valley Parkway (West)	1348	309	2410	0.559	1348	1.3	3.585	А
4 - Hemingfield Road (North)	220	1399	729	0.302	220	0.4	7.301	А

16:45 - 17:00

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	1180	151	2358	0.501	1183	1.0	3.182	А
2 - Hemingfield Road (South)	156	1095	1135	0.138	157	0.2	3.788	А
3 - Dearne Valley Parkway (West)	1100	253	2444	0.450	1102	0.9	2.842	А
4 - Hemingfield Road (North)	180	1145	830	0.217	180	0.3	5.724	А



17:00 - 17:15

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	988	126	2372	0.417	990	0.7	2.701	А
2 - Hemingfield Road (South)	131	917	1221	0.107	131	0.1	3.399	А
3 - Dearne Valley Parkway (West)	921	212	2469	0.373	922	0.6	2.463	А
4 - Hemingfield Road (North)	151	958	904	0.167	151	0.2	4.936	А



Existing Layout - 2029 Base, AM Peak Hour

Data Errors and Warnings

No errors or warnings

Junction Network

Junctions

Junction	Name	Junction type	Use circulating lanes	Arm order	Junction Delay (s)	Junction LOS
1	Hemingfield Road Roundabout	Standard Roundabout		1, 2, 3, 4	3.55	А

Junction Network Options

Driving side	Lighting
Left	Normal/unknown

Traffic Demand

Demand Set Details

ID	Scenario name	Time Period name	Traffic profile type	Start time (HH:mm)	Finish time (HH:mm)	Time segment length (min)
D3	2029 Base	AM Peak Hour	ONE HOUR	07:45	09:15	15

Vehicle mix source	PCU Factor for a HV (PCU)
HV Percentages	2.00

Demand overview (Traffic)

Arm	Linked arm	Use O-D data	Average Demand (PCU/hr)	Scaling Factor (%)
1 - Dearne Valley Parkway (East)		~	976	100.000
2 - Hemingfield Road (South)		~	251	100.000
3 - Dearne Valley Parkway (West)		✓	1080	100.000
4 - Hemingfield Road (North)		~	222	100.000

Origin-Destination Data

Demand (PCU/hr)

			То		
		1 - Dearne Valley Parkway (East)	2 - Hemingfield Road (South)	3 - Dearne Valley Parkway (West)	4 - Hemingfield Road (North)
	1 - Dearne Valley Parkway (East)	7	28	864	77
From	2 - Hemingfield Road (South)	59	0	103	89
	3 - Dearne Valley Parkway (West)	1027	50	0	3
	4 - Hemingfield Road (North)	133	78	6	5

Vehicle Mix

Heavy Vehicle Percentages

			То		
		1 - Dearne Valley Parkway (East)	2 - Hemingfield Road (South)	3 - Dearne Valley Parkway (West)	4 - Hemingfield Road (North)
	1 - Dearne Valley Parkway (East)	0	8	9	1
From	2 - Hemingfield Road (South)	8	0	3	5
	3 - Dearne Valley Parkway (West)	10	4	0	50
	4 - Hemingfield Road (North)	2	3	0	0



Results

Results Summary for whole modelled period

Arm	Max RFC	Max Delay (s)	Max Queue (PCU)	Max LOS	
1 - Dearne Valley Parkway (East)	0.46	3.04	0.9	А	
2 - Hemingfield Road (South)	0.24	4.30	0.3	A	
3 - Dearne Valley Parkway (West)	0.49	3.16	1.0	A	
4 - Hemingfield Road (North)	0.31	6.81	0.5	A	

Main Results for each time segment

07:45 - 08:00

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	735	104	2385	0.308	733	0.5	2.357	А
2 - Hemingfield Road (South)	189	720	1315	0.144	188	0.2	3.350	A
3 - Dearne Valley Parkway (West)	813	178	2490	0.327	811	0.5	2.351	А
4 - Hemingfield Road (North)	167	858	943	0.177	166	0.2	4.732	A

08:00 - 08:15

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	877	125	2373	0.370	877	0.6	2.602	А
2 - Hemingfield Road (South)	226	862	1247	0.181	225	0.2	3.694	А
3 - Dearne Valley Parkway (West)	971	213	2469	0.393	970	0.7	2.636	А
4 - Hemingfield Road (North)	200	1027	876	0.228	199	0.3	5.433	A

08:15 - 08:30

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	1075	153	2356	0.456	1074	0.9	3.034	А
2 - Hemingfield Road (South)	276	1055	1155	0.239	276	0.3	4.294	А
3 - Dearne Valley Parkway (West)	1189	261	2439	0.487	1188	1.0	3.155	А
4 - Hemingfield Road (North)	244	1257	785	0.311	244	0.5	6.788	А

08:30 - 08:45

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	1075	153	2356	0.456	1075	0.9	3.039	А
2 - Hemingfield Road (South)	276	1056	1154	0.239	276	0.3	4.300	А
3 - Dearne Valley Parkway (West)	1189	261	2439	0.488	1189	1.0	3.160	А
4 - Hemingfield Road (North)	244	1258	785	0.312	244	0.5	6.813	А

08:45 - 09:00

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	877	125	2372	0.370	878	0.6	2.609	А
2 - Hemingfield Road (South)	226	863	1246	0.181	226	0.2	3.700	A
3 - Dearne Valley Parkway (West)	971	213	2468	0.393	972	0.7	2.645	А
4 - Hemingfield Road (North)	200	1029	876	0.228	200	0.3	5.454	A



09:00 - 09:15

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	735	105	2384	0.308	735	0.5	2.363	А
2 - Hemingfield Road (South)	189	723	1313	0.144	189	0.2	3.357	А
3 - Dearne Valley Parkway (West)	813	179	2489	0.327	814	0.5	2.359	А
4 - Hemingfield Road (North)	167	861	942	0.177	167	0.2	4.753	А



Existing Layout - 2029 Base, PM Peak Hour

Data Errors and Warnings

No errors or warnings

Junction Network

Junctions

Junction	Name	Junction type	Use circulating lanes	Arm order	Junction Delay (s)	Junction LOS
1	Hemingfield Road Roundabout	Standard Roundabout		1, 2, 3, 4	4.64	А

Junction Network Options

Driving side	Lighting
Left	Normal/unknown

Traffic Demand

Demand Set Details

ID	Scenario name	Time Period name	Traffic profile type	Start time (HH:mm)	Finish time (HH:mm)	Time segment length (min)
D4	2029 Base	PM Peak Hour	ONE HOUR	15:45	17:15	15

Vehicle mix source	PCU Factor for a HV (PCU)
HV Percentages	2.00

Demand overview (Traffic)

Arm	Linked arm	Use O-D data	Average Demand (PCU/hr)	Scaling Factor (%)
1 - Dearne Valley Parkway (East)		~	1388	100.000
2 - Hemingfield Road (South)		~	201	100.000
3 - Dearne Valley Parkway (West)		✓	1307	100.000
4 - Hemingfield Road (North)		~	214	100.000

Origin-Destination Data

Demand (PCU/hr)

	То							
		1 - Dearne Valley Parkway (East)	2 - Hemingfield Road (South)	3 - Dearne Valley Parkway (West)	4 - Hemingfield Road (North)			
	1 - Dearne Valley Parkway (East)	6	116	1114	152			
From	2 - Hemingfield Road (South)	59	0	61	81			
	3 - Dearne Valley Parkway (West)	1194	97	0	16			
	4 - Hemingfield Road (North)	121	79	13	1			

Vehicle Mix

Heavy Vehicle Percentages

	То							
		1 - Dearne Valley Parkway (East)	2 - Hemingfield Road (South)	3 - Dearne Valley Parkway (West)	4 - Hemingfield Road (North)			
	1 - Dearne Valley Parkway (East)	0	3	4	2			
From	2 - Hemingfield Road (South)	8	0	0	1			
	3 - Dearne Valley Parkway (West)	6	2	0	7			
	4 - Hemingfield Road (North)	3	4	0	0			


Results

Results Summary for whole modelled period

Arm	Max RFC	Max Delay (s)	Max Queue (PCU)	Max LOS
1 - Dearne Valley Parkway (East)	0.66	4.69	2.0	А
2 - Hemingfield Road (South)	0.23	4.86	0.3	A
3 - Dearne Valley Parkway (West)	0.60	3.97	1.6	A
4 - Hemingfield Road (North)	0.34	8.14	0.5	A

Main Results for each time segment

15:45 - 16:00

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	1045	142	2362	0.442	1042	0.8	2.819	А
2 - Hemingfield Road (South)	151	965	1197	0.126	151	0.1	3.528	A
3 - Dearne Valley Parkway (West)	984	224	2462	0.400	981	0.7	2.566	А
4 - Hemingfield Road (North)	161	1018	880	0.183	160	0.2	5.153	A

16:00 - 16:15

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	1248	171	2346	0.532	1246	1.2	3.389	А
2 - Hemingfield Road (South)	181	1155	1107	0.163	180	0.2	3.988	A
3 - Dearne Valley Parkway (West)	1175	268	2435	0.483	1174	1.0	3.015	A
4 - Hemingfield Road (North)	192	1218	801	0.240	192	0.3	6.097	A

16:15 - 16:30

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	1528	209	2324	0.658	1525	2.0	4.655	А
2 - Hemingfield Road (South)	221	1413	983	0.225	221	0.3	4.844	А
3 - Dearne Valley Parkway (West)	1439	329	2398	0.600	1437	1.6	3.949	А
4 - Hemingfield Road (North)	236	1491	693	0.340	235	0.5	8.097	А

16:30 - 16:45

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	1528	209	2323	0.658	1528	2.0	4.693	А
2 - Hemingfield Road (South)	221	1416	982	0.225	221	0.3	4.856	А
3 - Dearne Valley Parkway (West)	1439	329	2398	0.600	1439	1.6	3.969	А
4 - Hemingfield Road (North)	236	1493	692	0.341	236	0.5	8.143	А

16:45 - 17:00

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	1248	171	2346	0.532	1251	1.2	3.418	А
2 - Hemingfield Road (South)	181	1159	1105	0.164	181	0.2	4.001	А
3 - Dearne Valley Parkway (West)	1175	269	2434	0.483	1177	1.0	3.035	А
4 - Hemingfield Road (North)	192	1221	799	0.241	193	0.3	6.137	А



17:00 - 17:15

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	1045	143	2362	0.442	1046	0.8	2.839	А
2 - Hemingfield Road (South)	151	970	1195	0.127	152	0.1	3.539	А
3 - Dearne Valley Parkway (West)	984	225	2461	0.400	985	0.7	2.582	А
4 - Hemingfield Road (North)	161	1022	878	0.183	161	0.2	5.183	А



Existing Layout - 2029 Predicted, AM Peak Hour

Data Errors and Warnings

No errors or warnings

Junction Network

Junctions

Junction	Name	Junction type	Use circulating lanes	Arm order	Junction Delay (s)	Junction LOS
1	Hemingfield Road Roundabout	Standard Roundabout		1, 2, 3, 4	3.66	А

Junction Network Options

Driving side	Lighting
Left	Normal/unknown

Traffic Demand

Demand Set Details

ID	Scenario name	Time Period name	Traffic profile type	Start time (HH:mm)	Finish time (HH:mm)	Time segment length (min)
D5	2029 Predicted	AM Peak Hour	ONE HOUR	07:45	09:15	15

Vehicle mix source	PCU Factor for a HV (PCU)
HV Percentages	2.00

Demand overview (Traffic)

Arm	Linked arm	Use O-D data	Average Demand (PCU/hr)	Scaling Factor (%)
1 - Dearne Valley Parkway (East)		~	980	100.000
2 - Hemingfield Road (South)		~	304	100.000
3 - Dearne Valley Parkway (West)		✓	1088	100.000
4 - Hemingfield Road (North)		✓	228	100.000

Origin-Destination Data

Demand (PCU/hr)

	То											
		1 - Dearne Valley Parkway (East)	2 - Hemingfield Road (South)	3 - Dearne Valley Parkway (West)	4 - Hemingfield Road (North)							
	1 - Dearne Valley Parkway (East)	7	32	864	77							
From	2 - Hemingfield Road (South)	73	0	126	105							
	3 - Dearne Valley Parkway (West)	1027	58	0	3							
	4 - Hemingfield Road (North)	133	84	6	5							

Vehicle Mix

Heavy Vehicle Percentages

			То		
		1 - Dearne Valley Parkway (East)	2 - Hemingfield Road (South)	3 - Dearne Valley Parkway (West)	4 - Hemingfield Road (North)
	1 - Dearne Valley Parkway (East)	0	7	9	1
From	2 - Hemingfield Road (South)	6	0	3	4
	3 - Dearne Valley Parkway (West)	10	4	0	50
	4 - Hemingfield Road (North)	2	3	0	0



Results

Results Summary for whole modelled period

Arm	Max RFC	Max Delay (s)	Max Queue (PCU)	Max LOS
1 - Dearne Valley Parkway (East)	0.46	3.07	0.9	А
2 - Hemingfield Road (South)	0.29	4.57	0.4	A
3 - Dearne Valley Parkway (West)	0.50	3.23	1.1	A
4 - Hemingfield Road (North)	0.32	7.02	0.5	A

Main Results for each time segment

07:45 - 08:00

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	738	115	2379	0.310	736	0.5	2.367	А
2 - Hemingfield Road (South)	229	720	1315	0.174	228	0.2	3.444	A
3 - Dearne Valley Parkway (West)	819	200	2476	0.331	817	0.5	2.378	А
4 - Hemingfield Road (North)	172	875	937	0.183	171	0.2	4.800	A

08:00 - 08:15

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	881	137	2365	0.372	880	0.6	2.621	А
2 - Hemingfield Road (South)	273	862	1247	0.219	273	0.3	3.845	А
3 - Dearne Valley Parkway (West)	978	240	2452	0.399	977	0.7	2.677	А
4 - Hemingfield Road (North)	205	1047	869	0.236	205	0.3	5.542	A

08:15 - 08:30

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	1079	168	2347	0.460	1078	0.9	3.065	А
2 - Hemingfield Road (South)	335	1055	1155	0.290	334	0.4	4.563	А
3 - Dearne Valley Parkway (West)	1198	294	2419	0.495	1197	1.1	3.228	А
4 - Hemingfield Road (North)	251	1281	776	0.324	250	0.5	7.000	А

08:30 - 08:45

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	1079	168	2347	0.460	1079	0.9	3.070	А
2 - Hemingfield Road (South)	335	1056	1154	0.290	335	0.4	4.571	А
3 - Dearne Valley Parkway (West)	1198	294	2419	0.495	1198	1.1	3.234	А
4 - Hemingfield Road (North)	251	1283	775	0.324	251	0.5	7.025	A

08:45 - 09:00

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	881	138	2365	0.373	882	0.6	2.629	А
2 - Hemingfield Road (South)	273	863	1246	0.219	274	0.3	3.854	А
3 - Dearne Valley Parkway (West)	978	240	2452	0.399	979	0.7	2.685	А
4 - Hemingfield Road (North)	205	1049	868	0.236	206	0.3	5.567	A



09:00 - 09:15

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	738	115	2378	0.310	738	0.5	2.377	А
2 - Hemingfield Road (South)	229	723	1313	0.174	229	0.2	3.457	А
3 - Dearne Valley Parkway (West)	819	201	2476	0.331	820	0.5	2.386	А
4 - Hemingfield Road (North)	172	878	935	0.183	172	0.2	4.823	А



Existing Layout - 2029 Predicted, PM Peak Hour

Data Errors and Warnings

No errors or warnings

Junction Network

Junctions

Junction	Name	Junction type	Use circulating lanes	Arm order	Junction Delay (s)	Junction LOS
1	Hemingfield Road Roundabout	Standard Roundabout		1, 2, 3, 4	4.85	А

Junction Network Options

Driving side	Lighting
Left	Normal/unknown

Traffic Demand

Demand Set Details

ID	Scenario name	Time Period name	Traffic profile type	Start time (HH:mm)	Finish time (HH:mm)	Time segment length (min)
D6	2029 Predicted	PM Peak Hour	ONE HOUR	15:45	17:15	15

Vehicle mix sourcePCU Factor for a HV (PCU)HV Percentages2.00

Demand overview (Traffic)

Arm	Linked arm	Use O-D data	Average Demand (PCU/hr)	Scaling Factor (%)
1 - Dearne Valley Parkway (East)		~	1401	100.000
2 - Hemingfield Road (South)		~	222	100.000
3 - Dearne Valley Parkway (West)		✓	1327	100.000
4 - Hemingfield Road (North)		✓	228	100.000

Origin-Destination Data

Demand (PCU/hr)

			То		
		1 - Dearne Valley Parkway (East)	2 - Hemingfield Road (South)	3 - Dearne Valley Parkway (West)	4 - Hemingfield Road (North)
	1 - Dearne Valley Parkway (East)	6	129	1114	152
From	2 - Hemingfield Road (South)	65	0	69	88
	3 - Dearne Valley Parkway (West)	1194	117	0	16
	4 - Hemingfield Road (North)	121	93	13	1

Vehicle Mix

Heavy Vehicle Percentages

	То									
		1 - Dearne Valley Parkway (East)	2 - Hemingfield Road (South)	3 - Dearne Valley Parkway (West)	4 - Hemingfield Road (North)					
	1 - Dearne Valley Parkway (East)	0	3	4	2					
From	2 - Hemingfield Road (South)	7	0	0	1					
	3 - Dearne Valley Parkway (West)	6	2	0	7					
	4 - Hemingfield Road (North)	3	4	0	0					



Results

Results Summary for whole modelled period

Arm	Max RFC	Max Delay (s)	Max Queue (PCU)	Max LOS
1 - Dearne Valley Parkway (East)	0.67	4.92	2.1	А
2 - Hemingfield Road (South)	0.25	4.99	0.3	A
3 - Dearne Valley Parkway (West)	0.61	4.10	1.7	A
4 - Hemingfield Road (North)	0.37	8.65	0.6	A

Main Results for each time segment

15:45 - 16:00

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	1055	168	2348	0.449	1051	0.8	2.872	А
2 - Hemingfield Road (South)	167	965	1197	0.140	166	0.2	3.572	A
3 - Dearne Valley Parkway (West)	999	234	2456	0.407	996	0.7	2.600	А
4 - Hemingfield Road (North)	172	1037	872	0.197	171	0.3	5.288	A

16:00 - 16:15

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	1259	201	2328	0.541	1258	1.2	3.483	А
2 - Hemingfield Road (South)	200	1155	1107	0.180	199	0.2	4.059	А
3 - Dearne Valley Parkway (West)	1193	280	2427	0.491	1192	1.0	3.075	А
4 - Hemingfield Road (North)	205	1241	791	0.259	205	0.4	6.327	A

16:15 - 16:30

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	1543	246	2302	0.670	1539	2.1	4.870	А
2 - Hemingfield Road (South)	244	1413	984	0.249	244	0.3	4.979	А
3 - Dearne Valley Parkway (West)	1461	343	2389	0.612	1459	1.6	4.076	А
4 - Hemingfield Road (North)	251	1519	681	0.368	250	0.6	8.597	А

16:30 - 16:45

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	1543	247	2301	0.670	1542	2.1	4.917	А
2 - Hemingfield Road (South)	244	1416	982	0.249	244	0.3	4.995	А
3 - Dearne Valley Parkway (West)	1461	344	2389	0.612	1461	1.7	4.098	А
4 - Hemingfield Road (North)	251	1522	680	0.369	251	0.6	8.655	А

16:45 - 17:00

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	1259	202	2328	0.541	1263	1.2	3.515	А
2 - Hemingfield Road (South)	200	1159	1105	0.181	200	0.2	4.076	A
3 - Dearne Valley Parkway (West)	1193	281	2427	0.492	1195	1.0	3.096	А
4 - Hemingfield Road (North)	205	1245	790	0.259	206	0.4	6.371	А



17:00 - 17:15

Arm	Total Demand (PCU/hr)	Circulating flow (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
1 - Dearne Valley Parkway (East)	1055	169	2347	0.449	1056	0.9	2.894	А
2 - Hemingfield Road (South)	167	970	1195	0.140	167	0.2	3.584	А
3 - Dearne Valley Parkway (West)	999	235	2455	0.407	1000	0.7	2.616	А
4 - Hemingfield Road (North)	172	1042	871	0.197	172	0.3	5.322	А

Junctions 9

PICADY 9 - Priority Intersection Module

Version: 9.5.1.7462 © Copyright TRL Limited, 2019

For sales and distribution information, program advice and maintenance, contact TRL: +44 (0)1344 379777 software@trl.co.uk www.trlsoftware.co.uk

The users of this computer program for the solution of an engineering problem are in no way relieved of their responsibility for the correctness of the solution

Filename: 23-160 Proposed Site Access Juction Model - updated.j9 Path: Y:\2023\23-151 to 23-175\23-160 Residential Development Hemingfield, Barnsley\Technical\Junction Modelling\Site Access Report generation date: 30/01/2024 14:21:43

»Proposed Layout - 2029 Predicted 180, AM Peak Hour »Proposed Layout - 2029 Predicted 180, PM Peak Hour »Proposed Layout - 2029 Predicted 400, AM Peak Hour »Proposed Layout - 2029 Predicted 400, PM Peak Hour

Summary of junction performance

		AM Pea	ak Hour			PM Peak Hour				
	Set ID	Queue (PCU)	Delay (s)	RFC	LOS	Set ID	Queue (PCU)	Delay (s)	RFC	LOS
		Proposed Layout - 2029 Predicted 180								
Stream B-AC	D1	0.2	9.07	0.15	Α	D2	0.1	8.90	0.07	Α
Stream C-AB	וט	0.0	5.92	0.01	Α	DZ	0.0	6.51	0.02	Α
		Proposed Layout - 2029 Predicted 400								
Stream B-AC	D2	0.5	11.83	0.35	В	D4	0.2	9.99	0.15	Α
Stream C-AB	03	0.0	6.05	0.02	Α	D4	0.1	6.90	0.05	Α

Values shown are the highest values encountered over all time segments. Delay is the maximum value of average delay per arriving vehicle.

File summary

File Description

Title	Proposed Site Access Junction Model
Location	Hemingfield, Barnsley
Site number	
Date	04/12/2023
Version	
Status	(new file)
Identifier	
Client	Ptarmigan Land
Jobnumber	23-160
Enumerator	BRYANGHALL\Design
Description	

Units

Distance	Speed	Traffic units	Traffic units	Flow	Average delay	Total delay	Rate of delay
units	units	input	results	units	units	units	units
m	kph	PCU	PCU	perHour	s	-Min	perMin

Analysis Options

Calculate Queue Percentiles	Calculate residual capacity	RFC Threshold	Average Delay threshold (s)	Queue threshold (PCU)
		0.85	36.00	20.00

Demand Set Summary

ID	Scenario name	Time Period name	Traffic profile type	Start time (HH:mm)	Finish time (HH:mm)	Time segment length (min)
D1	2029 Predicted 180	AM Peak Hour	ONE HOUR	07:45	09:15	15
D2	2029 Predicted 180	PM Peak Hour	ONE HOUR	15:45	17:15	15
D3	2029 Predicted 400	AM Peak Hour	ONE HOUR	07:45	09:15	15
D4	2029 Predicted 400	PM Peak Hour	ONE HOUR	15:45	17:15	15

Analysis Set Details

ID	Name	Network flow scaling factor (%)
A1	Proposed Layout	100.000

Proposed Layout - 2029 Predicted 180, AM Peak Hour

Data Errors and Warnings

No errors or warnings

Junction Network

Junctions

Junction	Name	Junction type	Major road direction	Use circulating lanes	Junction Delay (s)	Junction LOS
1	Proposed Site Access	T-Junction	Two-way		1.26	A

Junction Network Options

Driving side	Lighting	
Left	Normal/unknown	

Arms

Arms

Arm	Name	Description	Arm type
Α	Hemingfield Road (North)		Major
В	Proposed Site Access		Minor
С	Hemingfield Road (South)		Major

Major Arm Geometry

Arm	Width of carriageway (m)	Has kerbed central reserve	Has right turn bay	Width for right turn (m)	Visibility for right turn (m)	Blocks?	Blocking queue (PCU)
C - Hemingfield Road (South)	6.00		✓	3.00	60.0	1	5.00

Geometries for Arm C are measured opposite Arm B. Geometries for Arm A (if relevant) are measured opposite Arm D.

Minor Arm Geometry

Arm	Minor arm type	Lane width (m)	Visibility to left (m)	Visibility to right (m)
B - Proposed Site Access	One lane	3.66	26	21

Slope / Intercept / Capacity

Priority Intersection Slopes and Intercepts

Stream	Intercept (PCU/hr)	Slope for A-B	Slope for A-C	Slope for C-A	Slope for C-B
B-A	529	0.096	0.244	0.153	0.348
B-C	679	0.104	0.263	-	-
C-B	662	0.256	0.256	-	-

The slopes and intercepts shown above do NOT include any corrections or adjustments. Streams may be combined, in which case capacity will be adjusted. Values are shown for the first time segment only; they may differ for subsequent time segments.

Traffic Demand

Demand Set Details

ID	Scenario name	Time Period name	Traffic profile type	Start time (HH:mm)	Finish time (HH:mm)	Time segment length (min)
D1	2029 Predicted 180	AM Peak Hour	ONE HOUR	07:45	09:15	15

Vehicle mix source	PCII Factor for a HV (PCII)
Vehicle IIIIX Source	

HV Percentages	2.00

Demand overview (Traffic)

Arm	Linked arm	Use O-D data	Average Demand (PCU/hr)	Scaling Factor (%)
A - Hemingfield Road (North)		✓	174	100.000
B - Proposed Site Access		~	66	100.000
C - Hemingfield Road (South)		✓	255	100.000

Origin-Destination Data

Demand (PCU/hr)

	То								
		A - Hemingfield Road (North)	B - Proposed Site Access	C - Hemingfield Road (South)					
From	A - Hemingfield Road (North)	0	19	155					
	B - Proposed Site Access	53	0	13					
	C - Hemingfield Road (South)	251	4	0					

Vehicle Mix

Heavy Vehicle Percentages

	То							
		A - Hemingfield Road (North)	B - Proposed Site Access	C - Hemingfield Road (South)				
From	A - Hemingfield Road (North)	0	0	4				
	B - Proposed Site Access	0	0	0				
	C - Hemingfield Road (South)	5	0	0				

Results

Results Summary for whole modelled period

Stream	Max RFC	Max Delay (s)	Max Queue (PCU)	Max LOS
B-AC	0.15	9.07	0.2	A
C-AB	0.01	5.92	0.0	A
C-A				
A-B				
A-C				

Main Results for each time segment

07:45 - 08:00

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	50	496	0.100	49	0.1	8.049	A
C-AB	3	628	0.005	3	0.0	5.758	A
C-A	189			189			
A-B	14			14			
A-C	117			117			

08:00 - 08:15

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	59	485	0.122	59	0.1	8.453	A
C-AB	4	622	0.006	4	0.0	5.824	A
C-A	226			226			
A-B	17			17			
A-C	139			139			

08:15 - 08:30

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	73	470	0.155	72	0.2	9.063	A
C-AB	4	613	0.007	4	0.0	5.918	A
C-A	276			276			
A-B	21			21			
A-C	171			171			

08:30 - 08:45

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	73	470	0.155	73	0.2	9.070	A
C-AB	4	613	0.007	4	0.0	5.918	A
C-A	276			276			
A-B	21			21			
A-C	171			171			

08:45 - 09:00

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	59	485	0.122	59	0.1	8.465	A
C-AB	4	622	0.006	4	0.0	5.826	A
C-A	226			226			
A-B	17			17			
A-C	139			139			

09:00 - 09:15

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	50	496	0.100	50	0.1	8.067	A
C-AB	3	628	0.005	3	0.0	5.758	A
C-A	189			189			
A-B	14			14			
A-C	117			117			

Proposed Layout - 2029 Predicted 180, PM Peak Hour

Data Errors and Warnings

No errors or warnings

Junction Network

Junctions

Junction	Name	Junction type	Major road direction	Use circulating lanes	Junction Delay (s)	Junction LOS
1	Proposed Site Access	T-Junction	Two-way		0.54	A

Junction Network Options

Driving side	Lighting
Left	Normal/unknown

Traffic Demand

Demand Set Details

ID	Scenario name	Time Period name	Traffic profile type	Start time (HH:mm)	Finish time (HH:mm)	Time segment length (min)
D2	2029 Predicted 180	PM Peak Hour	ONE HOUR	15:45	17:15	15

Vehicle mix sourcePCU Factor for a HV (PCU)HV Percentages2.00

Demand overview (Traffic)

Arm	Linked arm	Use O-D data	Average Demand (PCU/hr)	Scaling Factor (%)
A - Hemingfield Road (North)		✓	338	100.000
B - Proposed Site Access		✓	26	100.000
C - Hemingfield Road (South)		~	213	100.000

Origin-Destination Data

Demand (PCU/hr)

	То								
		A - Hemingfield Road (North)	B - Proposed Site Access	C - Hemingfield Road (South)					
From	A - Hemingfield Road (North)	0	46	292					
	B - Proposed Site Access	21	0	5					
	C - Hemingfield Road (South)	201	12	0					

Vehicle Mix

Heavy Vehicle Percentages

	То								
		A - Hemingfield Road (North)	B - Proposed Site Access	C - Hemingfield Road (South)					
From	A - Hemingfield Road (North)	0	0	3					
	B - Proposed Site Access	0	0	0					
	C - Hemingfield Road (South)	3	0	0					

Results

Stream Max RFC Max Delay (s) Max Queue (PCU) Max LOS B-AC 0.07 8.90 0.1 А C-AB 0.02 6.51 0.0 Α C-A A-B A-C

Results Summary for whole modelled period

Main Results for each time segment

15:45 - 16:00

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	20	471	0.042	19	0.0	7.967	A
C-AB	9	596	0.015	9	0.0	6.127	A
C-A	151			151			
A-B	35			35			
A-C	220			220			

16:00 - 16:15

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	23	455	0.051	23	0.1	8.334	A
C-AB	11	584	0.018	11	0.0	6.281	A
C-A	181			181			
A-B	41			41			
A-C	263			263			

16:15 - 16:30

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	29	433	0.066	29	0.1	8.897	A
C-AB	13	566	0.023	13	0.0	6.508	A
C-A	221			221			
A-B	51			51			
A-C	321			321			

16:30 - 16:45

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	29	433	0.066	29	0.1	8.899	A
C-AB	13	566	0.023	13	0.0	6.508	A
C-A	221			221			
A-B	51			51			
A-C	321			321			

16:45 - 17:00

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	23	455	0.051	23	0.1	8.339	A
C-AB	11	584	0.018	11	0.0	6.282	A
C-A	181			181			
A-B	41			41			
A-C	263			263			

17:00 - 17:15

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	20	471	0.042	20	0.0	7.975	A
C-AB	9	596	0.015	9	0.0	6.127	A
C-A	151			151			
A-B	35			35			
A-C	220			220			

Proposed Layout - 2029 Predicted 400, AM Peak Hour

Data Errors and Warnings

No errors or warnings

Junction Network

Junctions

Junction	Name	Junction type	Major road direction	Use circulating lanes	Junction Delay (s)	Junction LOS
1	Proposed Site Access	T-Junction	Two-way		2.98	A

Junction Network Options

Driving side	Lighting
Left	Normal/unknown

Traffic Demand

Demand Set Details

ID	Scenario name	Time Period name	Traffic profile type	Start time (HH:mm)	Finish time (HH:mm)	Time segment length (min)
D3	2029 Predicted 400	AM Peak Hour	ONE HOUR	07:45	09:15	15

Vehicle mix sourcePCU Factor for a HV (PCU)HV Percentages2.00

Demand overview (Traffic)

Arm	Linked arm	Use O-D data	Average Demand (PCU/hr)	Scaling Factor (%)
A - Hemingfield Road (North)		~	196	100.000
B - Proposed Site Access		✓	147	100.000
C - Hemingfield Road (South)		~	261	100.000

Origin-Destination Data

Demand (PCU/hr)

		То								
		A - Hemingfield Road (North)	B - Proposed Site Access	C - Hemingfield Road (South)						
From	A - Hemingfield Road (North)	0	41	155						
	B - Proposed Site Access	117	0	30						
	C - Hemingfield Road (South)	251	10	0						

Vehicle Mix

Heavy Vehicle Percentages

	То								
		A - Hemingfield Road (North)	B - Proposed Site Access	C - Hemingfield Road (South)					
From	A - Hemingfield Road (North)	0	0	4					
	B - Proposed Site Access	0	0	0					
	C - Hemingfield Road (South)	5	0	0					

Results

Stream Max RFC Max Delay (s) Max Queue (PCU) Max LOS B-AC 0.35 11.83 0.5 В C-AB 0.02 6.05 0.0 Α C-A A-B A-C

Results Summary for whole modelled period

Main Results for each time segment

07:45 - 08:00

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	111	494	0.224	110	0.3	9.333	A
C-AB	8	624	0.012	7	0.0	5.840	A
C-A	189			189			
A-B	31			31			
A-C	117			117			

08:00 - 08:15

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	132	482	0.274	132	0.4	10.257	В
C-AB	9	617	0.015	9	0.0	5.924	A
C-A	226			226			
A-B	37			37			
A-C	139			139			

08:15 - 08:30

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	162	466	0.347	161	0.5	11.784	В
C-AB	11	606	0.018	11	0.0	6.045	A
C-A	276			276			
A-B	45			45			
A-C	171			171			

08:30 - 08:45

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	162	466	0.347	162	0.5	11.829	В
C-AB	11	606	0.018	11	0.0	6.045	A
C-A	276			276			
A-B	45			45			
A-C	171			171			

08:45 - 09:00

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	132	482	0.274	133	0.4	10.312	В
C-AB	9	617	0.015	9	0.0	5.925	A
C-A	226			226			
A-B	37			37			
A-C	139			139			

09:00 - 09:15

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	111	494	0.224	111	0.3	9.405	A
C-AB	8	624	0.012	8	0.0	5.840	A
C-A	189			189			
A-B	31			31			
A-C	117			117			

Proposed Layout - 2029 Predicted 400, PM Peak Hour

Data Errors and Warnings

No errors or warnings

Junction Network

Junctions

Junction	Name	Junction type	Major road direction	Use circulating lanes	Junction Delay (s)	Junction LOS
1	Proposed Site Access	T-Junction	Two-way		1.12	A

Junction Network Options

Driving side	Lighting
Left	Normal/unknown

Traffic Demand

Demand Set Details

ID	Scenario name	Time Period name	Traffic profile type	Start time (HH:mm)	Finish time (HH:mm)	Time segment length (min)	
D4	2029 Predicted 400	PM Peak Hour	ONE HOUR	15:45	17:15	15	

Vehicle mix sourcePCU Factor for a HV (PCU)HV Percentages2.00

Demand overview (Traffic)

Arm	Linked arm	Use O-D data	Average Demand (PCU/hr)	Scaling Factor (%)
A - Hemingfield Road (North)		~	395	100.000
B - Proposed Site Access		✓	58	100.000
C - Hemingfield Road (South)		~	227	100.000

Origin-Destination Data

Demand (PCU/hr)

	То										
		A - Hemingfield Road (North)	B - Proposed Site Access	C - Hemingfield Road (South)							
From	A - Hemingfield Road (North)	0	103	292							
	B - Proposed Site Access	46	0	12							
	C - Hemingfield Road (South)	201	26	0							

Vehicle Mix

Heavy Vehicle Percentages

	То										
		A - Hemingfield Road (North)	B - Proposed Site Access	C - Hemingfield Road (South)							
From A - Hemingfield Road (Nor		0	0	3							
	B - Proposed Site Access	0	0	0							
	C - Hemingfield Road (South)	3	0	0							

Results

Stream Max RFC Max Delay (s) Max Queue (PCU) Max LOS B-AC 0.15 9.99 0.2 А C-AB 0.05 6.90 0.1 Α C-A A-B A-C

Results Summary for whole modelled period

Main Results for each time segment

15:45 - 16:00

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	44	466	0.094	43	0.1	8.516	A
C-AB	20	585	0.033	19	0.0	6.358	A
C-A	151			151			
A-B	78			78			
A-C	220			220			

16:00 - 16:15

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	52	448	0.116	52	0.1	9.085	A
C-AB	23	571	0.041	23	0.0	6.577	A
C-A	181			181			
A-B	93			93			
A-C	263			263			

16:15 - 16:30

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	64	424	0.151	64	0.2	9.983	A
C-AB	29	550	0.052	29	0.1	6.901	A
C-A	221			221			
A-B	113			113			
A-C	321			321			

16:30 - 16:45

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	64	424	0.151	64	0.2	9.993	A
C-AB	29	550	0.052	29	0.1	6.901	A
C-A	221			221			
A-B	113			113			
A-C	321			321			

16:45 - 17:00

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	52	448	0.116	52	0.1	9.099	A
C-AB	23	571	0.041	23	0.0	6.580	A
C-A	181			181			
A-B	93			93			
A-C	263			263			

17:00 - 17:15

Stream	Total Demand (PCU/hr)	Capacity (PCU/hr)	RFC	Throughput (PCU/hr)	End queue (PCU)	Delay (s)	Unsignalised level of service
B-AC	44	466	0.094	44	0.1	8.538	A
C-AB	20	585	0.033	20	0.0	6.361	A
C-A	151			151			
A-B	78			78			
A-C	220			220			

APPENDIX BGH 6



(69) months

Notes:

Accidents between dates 01/01/2018 and 17/09/2023

Selection:

Selected using Manual Selection

Date	Cas.	Sev.	P2W	Cycs	Peds	Ch	60+	Vis.	Manv.	Road Cond.	Time	Location
20/11/2022	1	Slight	0	0	0	0	0	Light	No turn	Dry	1335	
24/02/2019	1	Slight	1	0	0	0	0	Light	No turn	Dry	1227	DEARNE VALLEY PARKWAY (A6195) BARNSLEY AT OR NR JN WITH 1
05/10/2020	2	Slight	0	0	0	0	1	Light	Left	Dry	0952	HEMINGFIELD ROAD ROUNDABOUT (A6195) BARNSLEY AT OR NR J
22/03/2020	1	Fatal	1	0	0	0	0	Light	Right	Dry	1648	CEMETERY ROAD BARNSLEY AT OR NR JN WITH LADY CROFT LAN
	5		2 2	0 0	0 0	0 0	1 1					
	Date 20/11/2022 24/02/2019 05/10/2020 22/03/2020	Date Cas. 20/11/2022 1 24/02/2019 1 05/10/2020 2 22/03/2020 1 5	Date Cas. Sev. 20/11/2022 1 Slight 24/02/2019 1 Slight 05/10/2020 2 Slight 22/03/2020 1 Fatal	Date Cas. Sev. P2W 20/11/2022 1 Slight 0 24/02/2019 1 Slight 1 05/10/2020 2 Slight 0 22/03/2020 1 Fatal 1 5 2 2	Date Cas. Sev. P2W Cycs 20/11/2022 1 Slight 0 0 24/02/2019 1 Slight 1 0 05/10/2020 2 Slight 0 0 22/03/2020 1 Fatal 1 0 5 2 0 2 0	Date Cas. Sev. P2W Cycs Peds 20/11/2022 1 Slight 0 0 0 24/02/2019 1 Slight 1 0 0 05/10/2020 2 Slight 0 0 0 22/03/2020 1 Fatal 1 0 0 5 2 0 0 2 0 0	Date Cas. Sev. P2W Cycs Peds Ch 20/11/2022 1 Slight 0 0 0 0 24/02/2019 1 Slight 1 0 0 0 05/10/2020 2 Slight 0 0 0 0 22/03/2020 1 Fatal 1 0 0 0 5 2 0 0 0 0	Date Cas. Sev. P2W Cycs Peds Ch 60+ 20/11/2022 1 Slight 0 1 1 0 0 0 0 0 1 1 0 0 0 0	Date Cas. Sev. P2W Cycs Peds Ch 60+ Vis. 20/11/2022 1 Slight 0 0 0 0 0 Light 24/02/2019 1 Slight 1 0 0 0 0 Light 05/10/2020 2 Slight 0 0 0 0 1 Light 22/03/2020 1 Fatal 1 0 0 0 1 Light 5 2 0 0 0 1 Light	Date Cas. Sev. P2W Cycs Peds Ch 60+ Vis. Manv. 20/11/2022 1 Slight 0 0 0 0 0 Light No turn 24/02/2019 1 Slight 1 0 0 0 1 Light No turn 05/10/2020 2 Slight 0 0 0 0 1 Light Left 22/03/2020 1 Fatal 1 0 0 0 1 Light Right 5 2 0 0 0 1 Light Right	Date Cas. Sev. P2W Cycs Peds Ch 60+ Vis. Manv. Road Cond. 20/11/2022 1 Slight 0 0 0 0 0 Light No turn Dry 24/02/2019 1 Slight 1 0 0 0 1 Light No turn Dry 05/10/2020 2 Slight 0 0 0 0 1 Light Left Dry 22/03/2020 1 Fatal 1 0 0 0 1 Dry 5 2 0 0 0 1 Provember Fight Dry	Date Cas. Sev. P2W Cycs Peds Ch 60+ Vis. Manv. Road Cond. Time 20/11/2022 1 Slight 0 0 0 0 Light No turn Dry 1335 24/02/2019 1 Slight 1 0 0 0 Light No turn Dry 1227 05/10/2020 2 Slight 0 0 0 0 1 Light Left Dry 0952 22/03/2020 1 Fatal 1 0 0 0 Light Right Dry 1648 5 2 0 0 0 1

Total number of accidents listed: 4

Run on: 02/01/2024

Details of P	ersonal Injury Accidents for Period -	01/01/2018 to 17	/09/2023 (69) month	hs	
Selection:		Notes	:		
Selected u	using Manual Selection				
Police Ref. Road No. 2nd Road No. Grid Ref.	Day Location Description Date Time D/L R.S.C Weather Speed Account of Accident	Vehicles Veh No / Type / M	fanv / Dir / Class		Casualties Sex / Age / Sev
221244476	Sunday 20/11/2022	Veh 1 Car Veh 2 Car	Going ahead Going ahead RH be	SW ^{to} E Dri nd E ^{to} NW	M 46 Slight
R1: A 6195 R2: U E 439,099 N 402,033	1335hrs Daylight:street lights present Dry Fine without high winds				
	70 mph		Douticinout	Confidences	
Causation Facto	or:		Participant:	Confidence:	
Ist: Illness	or disability, mental or physical V1 TRAVELLING FROM CORTON WOOD C AND TRAVELLED OVER THE ROUNDABO AMBULANCE. CONFIRMED NO DRINK OR TO HOSPITAL	N DVP A6195 TOWARDS H UT INTO ONCOMING TRAF DRUGS AND TAKEN	Vehicle 1 EMMINFIELD ROUNDA FIC STRIKING V2 AND	Very Likely BOUT. HE HAS HAD THEN THE BARRIEF	AN EPILEPTIC FIT R. SEEN BY
19818240 R1: A 6195 R2: A 6195 E 439,108 N 402,014	Sunday DEARNE VALLEY PARKWA 24/02/2019 BARNSLEY AT OR NR JN W 1227hrs HEMINGFIELD ROAD ROUN Daylight:street lights present Dry Fine without high winds 70 mph	Y (A6195) Veh 1 M/C < 12 ITH Veh 2 Car IDABOUT	5 cc Going ahead Going ahead	E to SW Dri E to SW	M 49 Slight
Causation Facto	or:		Participant:	Confidence:	
lst: Failed 2nd: Failed	to judge other persons path or speed to look properly BOTH VEHICLES ONE AND TWO HAVE BE ROUNDABOUT, THERE HAS BEEN A MINO FRONT CORNER OF VEHICLE TWO. THIS I R TO FALL FROM THE BIKE. AFTER GETT SPOKE WITH THE DRIVER OF VEHICLE TY CONTACT HIM LATER AS HE DIDN'T HAV THING TO WRITE THE DETAILS DOWN W THE RIDER SAT AT THE ROADSIDE WITH	EEN TRAVELLING UPHILL (DR COLLISION WHEN VEHI HAS CAUSED THE RIDE ING UP FROM THE ROAD, I WO, PASSED HIM HIS DETA E ANY ITH. VEHICLE TWO HAD LE HIS BIKE. HE THEN REALIS	Vehicle 1 Vehicle 1 ON THE DEARNE VALL CLE ONE, THE MOTOR NITIALLY HE DIDN'T T ILS AND MOBILE NUM EFT THE SCENE PRIOR SED THAT HE WAS SUF	Possible Possible EY PARKWAY. AS E CYCLE, HAS CONNE 'HINK THAT HE HAD IBER AND ASKED TH TO OFFICER ARRIV/ FFERING PAIN TO HI	XITING THE CTED WITH THE D BEEN INJURED. HE HE DRIVER TO AL. THEY LOCATED S RIGHT SHOULDER

R INJURY. HE HAS TRAVELLED TO BDGH WITH A FRIEND FOR ASSESSMENT.

Run on: 02/01/2024

Details of P	ersonal Injur	ry Accidents for Period - 01/01	/2018	to 17/09	2023 (69) months	6	
Selection:				Notes:			
Selected	using Manu	al Selection					
	-			Vehicles			Casualties
Police Ref.	Day	Location Description	Veh No	o / Type / Manv	/ Dir / Class		Sex / Age / Sev
Dood No	Date						
2nd Road No.	Time						
Grid Ref.	D/L						
	R.S.C						
	Weather						
	Speed						
	Account of Accident						
Causation Fac	ctor:						
20087486	Monday		Vob 1	Goods < 3.5t	Change lane to right	SE to SW	
20907400	05/10/202	(A6195) BARNSLEY AT OR NR JN	Voh 2	Cor	Turning laft	SE to SW ESD	M 10 Slight
R1: A 6195	0952hrs	WITH HEMMINGFIELD ROAD	Veh 2	Car	Turning left	SE to SW Dri	M 71 Slight
R2: U	Davlight:s	treet lights present	ven 2	Car	Turning left	SE to SW DI	M /1 Slight
E 439.119	Dry						
N 402 016	Fine with	out high winds					
402,010	60 mph						
Causation Fact	or:				Participant:	Confidence:	
1st: Carele	ess/Reckless/In a	a hurry			Vehicle 1	Very Likely	
	IT WOULD A GET AROUN LEFT LANE I BOUT AND C	PPEAR THAT THE DRIVER OF V1 HAS I D A CAR WHICH DIDN'T SET OFF THAT PROCEEDING ONTO THE ROUNDA GOING IN THE SAME DIRECTION	NCORF WAS I	RECTLY NEGO N THE LANE I	TIATED THE ROUND N FRONT OF IT, COLI	ABOUT PULLING LIDING WITH V2 V	OUT TO THE RIGHT TO VHICH WAS IN THE
20941957	Sunday	CEMETERY ROAD BARNSLEY AT OR	Veh 1	Car	Turning right	SW to SE	
	22/03/202	NR JN WITH LADY CROFT LANE	Veh 2	M/C > 125 cc	Going ahead	NE to SW Dri	M 25 Fatal
R1: U	1648hrs	0	Veh 3	Car	Parked	0 to 0	
R2: U	Daylight:s	treet lights present	Veh 4	Car	Parked	0 to 0	
E 439,168	Dry		ven i	Cui	T united	0 0	
N 401,448	Fine with	out high winds					
- , -	30 mph						
Causation Fact	or:				Participant:	Confidence:	
1st: Aggre	ssive driving				Vehicle 2	Very Likely	
	V1 TRAVELS WITH NEAR	S ALONG CEMETRY ROAD AND AS IT T SIDE FRONT OF V1, RIDER IS THROWN	URNS I ONTO	RIGHT INTO LA THE ROAD SU	ADY CROFT LANE, V RFACE AND LIFE IS	2 OFF ROAD MOTO PRONOUNCED EX	ORCYCLE COLLIDES TINCT AT SCENE

1

Accidents between dates Selection: Selected using Manual Selecti		1/01/2018 and	17/09/2023	(69) months Notes:		
221244476	20/11/2022	Sunday	Time: 1335	Vehicles 2	Casualties	1 Slight
Easting: 439	9,099	North	ing: 402,03	3		
Fine without	t high winds	Road	Surface: Dr	y Dayl	ight	
Road Type:	Roundabout			Speed Limit:	70	
Location: Description:	V1 TRAVELLIN ROUNDABOU ROUNDABOU SEEN BY AMB TO HOSPITAL	NG FROM (T. HE HAS T INTO ON SULANCE. (CORTON W HAD AN EF COMING TI CONFIRME	OOD ON DVP AG PILEPTIC FIT ANI RAFFIC STRIKIN D NO DRINK OR	6195 TOWARDS D TRAVELLED G V2 AND THE DRUGS AND 1	S HEMMINFIELD OVER THE N THE BARRIER FAKEN
Vehicle First poi Vehicle Age of [Reference: 1 int of impact: Fr direction: S Driver : 46	Car ont W to E		Going ahe Journey: O Breath test:	ead ther Negative	
Contribu	tory Factors :	505				
Cas Ped Dir: Ped Loc	sualty Reference: ation:	1 Age: Ped Mov	46 Male vement :	Driver/rider	Severity: S	Slight
Vehicle First poi Vehicle Age of [Reference: 2 Int of impact: Fr direction: Driver : 80	Car ont E ^{to} NW		Going ahe Journey: O Breath test:	ead right hand b ther Not requested	pend
Contribu		000				

Accidents betw Selection: Selected using	een dates g Manual Selectio	01/01/201 on	8 and 17	7/09/2023	(69) months Notes:		
19818240	24/02/201	9 Suno	dav Tim	ie: 1227	Vehicles 2	Casualties	1 Slight
Easting: 43	9,108		Northina:	402,014	- 1		
Fine withou	t high winds		Road Sur	face: Drv	/ Day	/light	
Road Type:	Dual carriage	eway		-	Speed Limit:	70	
Location: Description:	DEARNE VA HEMINGFIEI BOTH VEHIC DEARNE VA A MINOR CC WITH THE F R TO FALL F DIDN'T THIN VEHICLE TW DRIVER TO THING TO W SCENE PRIC ROADSIDE V TO HIS RIGH R INJURY H	LLEY P D ROA LES ON LLES ON RONT C RONT C ROM TH K THAT /O, PAS CONTA /RITE TH OR TO C VITH HI IT SHOU	ARKWAY D ROUN NE AND ARKWAY N WHEN ORNER HE BIKE. SED HIN CT HIM L HE DETA OFFICER S BIKE. I ULDER A	(A6195 DABOU TWO HA (. AS EX VEHICL OF VEH AFTER BEEN BEEN HIS DE ATER A (ILS DO ARRIVA HE THE ND THA	D) BARNSLEY A T (A6195) VE BEEN TRAV ITING THE ROU E ONE, THE M ICLE TWO. TH GETTING UP F NJURED. HE S TAILS AND MC S HE DIDN'T H WN WITH. VEH AL. THEY LOCA N REALISED TH AT HE HAD SUS BDGH WITH A	T OR NR JN WIT VELLING UPHILI JNDABOUT, THI OTORCYCLE, H IS HAS CAUSED FROM THE ROAI POKE WITH THE DBILE NUMBER AVE ANY ICLE TWO HAD TED THE RIDER HAT HE WAS SU STAINED A SHOP	TH ON THE ERE HAS BEEN AS CONNECTED THE RIDE D, INITIALLY HE E DRIVER OF AND ASKED THE LEFT THE R SAT AT THE IFFERING PAIN ULDE SSESSMENT
Vehicle First po	Reference: 1	Motoro Offside	cycle ove	er 50cc a	nd up Going ah	nead	
Vehicle	direction:	E to	SW		Journey: (Other	
Age of I	Driver : 49	_			Breath tes	t: Negative	
Contribu	itory Factors :	406	405				
Cas	sualty Referenc	e: 1	Age: 49	Male	Driver/rider	Severity: S	light
Ped Dir: Ped Loc	ation:	Pe	ed Movemo	ent :			
Vehicle First poi Vehicle Age of I	Reference: 2 int of impact: direction: Driver : 82	Car Nearside E to	e SW		Going ah Journey: N Breath tes	nead Not known ^{t:} Driver not cont	tacted
Contribu	itory Factors :	406	405				

Accidents betw Selection: Selected usin	veen dates 0 g Manual Selection	1/01/2018 and	17/09/2023	(69) months Notes:								
20987486	05/10/2020	Monday	Time: 0952	Vehicles 2	Casualties 2	Slight						
Easting: 43	9,119	Northi	ng: 402,01	6								
Fine withou	t high winds	Road	Surface: Dr	y Day	ylight							
Road Type:	Roundabout			Speed Limit:	60							
Location: Description:	 HEMINGFIELD ROAD ROUNDABOUT (A6195) BARNSLEY AT OR NR JN WITH HEMMINGFIELD ROAD scription: IT WOULD APPEAR THAT THE DRIVER OF V1 HAS INCORRECTLY NEGOTIATED THE ROUNDABOUT PULLING OUT TO THE RIGHT TO GET AROUND A CAR WHICH DIDN'T SET OFF THAT WAS IN THE LANE IN FRONT OF IT, COLLIDING WITH V2 WHICH WAS IN THE LEFT LANE PROCEEDING ONTO THE ROUNDA BOUT AND GOING IN THE SAME DIRECTION 											
Vehicle	Reference: 1	Van or Goo	ds <= 3.5 to	onnes Changin	g lane to right							
First po	int of impact: O	ffside										
Vehicle	direction:	SE to SW		Journey:	Journey as part of	work						
Age of I	Driver : 38			Breath tes	st: Negative							
Contribu	itory Factors :	602										
Vehicle	Reference: 2	Car		Turning	left							
First po	int of impact: N	earside			NI 7 I							
		SE to SW		Broath too								
Age of i	Dilver. 71			Dieath tes	negative							
Contribu	itory Factors :	602										
Ca	sualty Reference	1 Age: 7	71 Male	Driver/rider	Severity: SI	ight						
Ped Dir:	:	Ped Mov	ement :									
Ped Loc	ation:											
Ca	sualty Reference	2 Age: ²	19 Male	Passenger	Severity: SI	ight						
Ped Dir: Ped Loc	ation:	Ped Mov	ement :									

Accidents betw Selection: Selected usin	veen dates g Manual Selectio	01/01/2018 and	17/09/2023	(69) months Notes:			
20941957	22/03/202	0 Sunday	Time: 1648	Vehicles	4	Casualties 1	Fatal
Easting: 43	9,168	North	ing: 401,44	8			
Fine withou	t high winds	Road	Surface: Dr	y Da	aylight		
Road Type:	Single carria	geway		Speed Limit:	30		
Location: Description:	CEMETERY V1 TRAVELS CROFT LANI OF V1, RIDE PRONOUNC	ROAD BARN S ALONG CE E, V2 OFF RO R IS THROW ED EXTINCT	ISLEY AT C METRY RO DAD MOTO /N ONTO T AT SCENE	OR NR JN WITH AD AND AS IT RCYCLE COL HE ROAD SUF	H LADY TURN LIDES RFACE	(CROFT LAN IS RIGHT INT(WITH NEAR S AND LIFE IS	E D LADY SIDE FRONT
Vehicle	Reference: 1	Car		Turning	g right		
First po	int of impact:	Nearside					
Vehicle	direction:	SW to SE		Journey:	Other		
Age of	Driver : 27			Breath te	est: Ne	gative	
Contribu	utory Factors :	601					
Vehicle First po	Reference: 2	Motorcycle	over 125cc	and up Going a	ahead		
Vehicle	direction:	NE to SW		Journey:	Not kr	nown	
Age of	Driver : 25			Breath te	est: No	t provided (me	dical)
Contribu	utory Factors :	601					
Ca Ped Dir: Ped Loc	sualty Referenc : :ation:	e: 1 Age: Ped Mov	25 Male vement :	Driver/ride	r	Severity: Fata	al
Vehicle First po Vehicle	Reference: 3 int of impact: 1 direction: Par	Car Back rked ^{to} Park	ed	Parked Journey:	Not kr	nown	
Age of	Driver :			Breath te	est: Dri	ver not contac	ted
Contribu	utory Factors :	601					

AccsMap - Accident Analysis System

INTERPRETED LISTING

Accidents between dates Selection: Selected using Manual Select	01/01/2018 ^{and}	17/09/2023	(69) months Notes:
Vehicle Reference:	4 Car		Parked
First point of impact:	Back		
Vehicle direction:	Parked to Parl	ked	Journey: N
Age of Driver :			Breath test:

Journey: Not known Breath test: Driver not contacted

Contributory Factors : 601

Accidents involving:

Casualties:

	Fatal	Serious	Slight	Total
Motor vehicles only excluding 2-wheels	0	0	2	2
2-wheeled motor vehicles	1	0	1	2
Pedal cycles	0	0	0	0
Horses & other	0	0	0	0
Total	1	0	3	4

	Fatal	Serious	Slight	Total
Vehicle driver	0	0	2	2
Passenger	0	0	1	1
Motorcycle rider	1	0	1	2
Cyclist	0	0	0	0
Pedestrian	0	0	0	0
Other	0	0	0	0
Total	1	0	4	5

SUMMARY REPORT

Accidents between dates 01/01/2018 and 17/09/2023 (69) months

Selection:

Notes:

Selected using Manual Selection

						Ca	asualti	es	Causation Factors/	Ped			Road	Vehicle
Police Ref.	Acc Class	Date	Day	Time	Grid References	Ftl	Ser	Slt	Prob	LMD	Light	Weather	Surface	Types
221244476	Slight	20/11/2022	Sun	1335	439099 402033	0	0	1	505V1A	000	Light	Fine without high winds	Dry	99
19818240	Slight	24/02/2019	Sun	1227	439108 402014	0	0	1	406V1B 405V1B	000	Light	Fine without high winds	Dry	39
20987486	Slight	05/10/2020	Mon	0952	439119 402016	0	0	2	602V1A	000	Light	Fine without high winds	Dry	19 9
20941957	Fatal	22/03/2020	Sun	1648	439168 401448	1	0	0	601V2A	000	Light	Fine without high winds	Dry	9499
Column Totals	Slight :	3				1	0	0		Li	ght: 4]	Dry: 4	
	Serious :	0								Da	ark: 0	•	Wet: 0	
	Fatal :	1												

Total number of accidents listed: 4